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CLIMATE & CLIMATE CHANGE

1- i`Foh ds ok;qeaMy esa vk;ueaMy dgykus okyh
ijr jsfM;k lapkj dks lqlkè; cukrh gSA D;ksa\
1- vkstksu dh mifLFkfr jsfM;ks rjaxksa dks i`Foh dh vksj

ijkofrZr djrh gSA
2- jsfM;ks rjaxksa dh rjax&nS?;Z vfr nh?kZ gksrh gSA
mi;ZqÙkQ  esa ls dkSu&lk@dkSu&ls dFku lgh
gS@gSa\

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

2- lerkieaMy ds fupys Hkkx esa tsV foeku cgqr
vklkuh vkSj fufoZ?urk ds lkFk mM+ ldrs gSaA
bldk mi;ZqÙkQ Li"Vhdj.k D;k gS\   (2011)
1- lerkieaMy ds fupys Hkkx esa ckny ;k ty&ok"i

ugha gksrsA
2- lerkieaMy ds fupys Hkkx esa ÅèokZ/j iou ugha

gksrhA
bl lanHkZ esa miq;ZÙkQ esa ls dkSu&lk@dkSu&ls
dFku bldk@dks mi;qÙkQ Li"Vhdj.k gS@gSa\

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

3- fuEufyf•r dFkuksa ij fopkj dhft, %

1- mPp es?k eq[;r% lkSj fofdj.k dks ijkofrZr Hkwì"B
dks BaMk djrs gSaA

2- Hkwì"B ls mRlftZr gksus okyh vojÙkQ fofdj.kksa dk
fuEu es?k esa mPp vo'kks"k.k gksrk gS] vkSj blls rkiu
çHkko gksrk gS A

mi;ZqÙkQ dFkuksa esa dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2

4- fuEufyf•r dFkuksa ij fopkj dhft, %
1- tsV çokg dsoy mÙkjh xksyk/Z esa gksrs
2- dsoy dqN pØokr gh dsaæ esa okrkf{k mRiUu djrs gSaA
3- pØokr dh okrkf{k ds vUnj dk rkieku vklikl ds

rkieku ls yxHkx 10°C de gksrk
mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1 (b) dsoy 2 vkSj 3

(c) dsoy 2 (d) dsoy 1 vkSj 3

CLIMATE & CLIMATE CHANGE

1. A layer in the earth’s  atmosphere called

ionosphere facilities  radio communication.

Why ?  (2011)

1.  Presence of ozone causes the reflection of radio

waves to earth.

2. Radio waves have a very long wavelength.

Which of the statements given above is/are correct  ?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

2.    The jet aircrafts fly very easily and smoothly 

in the lower stratosphere. What could be the

appropriate explanation ?   (2011)

1. There  are  no  clouds  or water  vapour  in  the

lower stratosphere.

2. There  are  no  vertical  winds  in  the  lower

stratosphere.

Which of the statements given above is/are

correct in this context ?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

3. Consider the following statements : (2022)

1. High clouds primarily reflect solar radiation and

cool the surface of the Earth.

2. Low clouds have a high absorption of infrared

radiation emanating from the Earth’s surface

and thus cause warming effect.

Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

4. Consider the following statements: (2020)

1. Jet streams occur in the Northern Hemisphere

only.

2. Only some cyclones develop an eye.

3. The temperature inside the eye of a cyclone is

nearly 10°C lesser than that of the surroundings.

Which of the statements given above is/are

correct ?

(a) 1 only (b) 2 and 3 only

(c) 2 only (d) 1 and 3 only
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5- lkekU;r;k i`Foh dh lrg ls dsoy Å¡pkbZ
c<+us ds lkFk rkieku esa ?kVksrjh gksrh gS] D;ksafd
(2012)
1- ok;qe.My ìFoh dh lrg ls dsoy Åij dh vkSj xeZ

gks ldrk gS
2- Åijh ok;qe.My esa vkæZrk vf/d gksrh gS
3- Åijh ok;qe.My esa gok de ?kuh gksrh gS
fuEufyf•r dwVksa ds vk/kj ij lgh mÙkj
pqfu,%

(a) dsoy 1
(b) dsoy 2 vkSj 3
(c) dsoy 1] vkSj 3
(d) 1]2] 3] vkSj

6- ;g lansg gS fd vkLVªsfy;k esa gky esa vk;h
ck<+ ^yk&uhuk* ds dkj.k vk;h FkhA ^yk&uhuk*
^,y&uhuks* ls dSls fHkUu gS\
1- yk&uhuk fo"kqorh; fgan egklkxj esa leqæ ds vlk/

kj.k :i ls BUMs   rkieku ls pfjf=kr gksrk gS] tcfd
,y&uhuks fo"kqorh; ç'kkar egklkxj esa leqæ ds
vlk/kj.k :i ls xeZ rkieku ls pfjf=kr gksrk gSA

2- ,y&uhuks dk Hkkjr dh nf{k.k&if'peh ekulwu ij
çfrdwy çHkko iM+rk gS] fdarq yk&uhuk dk ekulwuh
tyok;q ij dksbZ çHkko ugha iM+rkA

mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

7- Hkkjrh; ekulwu dk iwokZuqeku djrs le;
dHkh&dHkh lekpkjksa esa mfYyf•r ̂ bafM;u vks'ku
Mkbiksy (IOD)' ds lUnHkZ esa] fuEufyf•r dFkuksa
esa ls dkSu&lk@ls lgh gS@gSa\ (2017)
1- IOD ifj?kVuk] m".kdfVca/h; if'peh fgan egklkxj

,oa m".kdfVca/h; iwohZ ç'kkar egklkxj ds chp
lkxj&i`"B rkieku ds varj ls fo'ksf"kr gksrh gSA

2- IOD ifj?kVuk ekulwu ij ,y&uhuks ds vlj dks
çHkkfor dj ldrh gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,%

(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1] u gh 2

5. Normally, the temperature decreases with the

increase in height from the Earth’s surface,

because (2012)

1. The atmosphere can be heated upwards only

from the Earth’s surface

2. There is more moisture in the upper atmosphere

3. The air is less dense in the upper atmosphere

Select the correct answer using the codes

given below :

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

6. La Nina is suspected to have caused recent

floods in Australia. How is La Nina different

from EI Nino ?  (2011)

1. La Nina  is  characterized  by un-usually  cold

ocean temperature in equatorial Indian Ocean

whereas EI Nino is characterized by unusually

warm  ocean  temperature  in  the  equatorial

pacific ocean.

2. EI  Nino  has  adverse  effect  on  south-west

monsoon of India, but La Nina has no effect on

monsoon climate.

Which of the statements given above is/are

correct ?

(a)    1 only.

(b)    2 only.

(c)    Both 1 and 2.

(d)    Neither 1 nor 2

7. With reference to ‘Indian Ocean Dipole (IOD)’

sometimes mentioned in the news while

forecasting Indian monsoon, which of the

following statements is/are correct? (2017)

1. IOD  phenomenon  is  characterised  by  a

difference in sea surface temperature between

tropical Western  Indian  Ocean  and  tropical

Eastern Pacific Ocean.

2. An  IOD  phenomenon  can  influence  an  El

Nino’s impact on the monsoon.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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8- gky gh esa ,d ubZ çdkj dh ,y uhuks ] ftldk

uke ,y uhuks eksMksdh gS] lekpkjksa esa Fkh | bl

çlnkax esa fuEufyf•r dFkuks ij fopkj dhft,

1- lkekU; ,y uhuks eè; ç'kkar egklkxj esa curh gS]

tcfd ,y uhuks eksMksdh iwohZ ç'kkar egklkxj esa

curh gS

2- lkekU; ,y uhuks ds ifj.kkeLo:i vVykafVd egklkxj

esa gkleku çHkatu iSnk gksrk gS ] ijUrq ,y  uhuks

eksMksdh ds ifj.kkeLo:i T;knk la[;k esa vkSj T;knk

vko`fr ds çHkatu iSnk gksrs gS

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,%

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1] u gh 2

9- iouks a dk ekSleh mRØe.k fdldk ç:ih

vfHky{k.k gS\ (2014)

(a) Hkweè;js•h; tyok;q

(b) Hkweè;lkxjh; tyok;q

(c) ekulwu tyok;q

(d) mi;ZqÙkQ lHkh tyok;q

10- fuEufyf•r dFkuksa ij fopkj dhft,%  (2012)

1- nf{k.kh Hkkjr ls mÙkjh Hkkjr dh vksj ekulwu  dh

vof/ ?kVrh gSA

2- mÙkjh Hkkjr ds eSnkuksa esa okf"kZd o`f"V dh ek=kk iwoZ ls

if'pe dh vksj ?kVrh gSA

mi;ZqÙkQ esa ls dkSu&lk@ ls dFku lgh gS@ gS\

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nkusa

(d)  u rks 1 vkSj u gh 2

8. A new type of El nino called El nino moduki

appeared in the news. in this context,

consider the following statements: (2010)

1. Normal El nino forms in the Central Pacific

ocean whereas  El Nino  Modoki  Forms  in

Easter Pacific Ocean.

2. Normal  El  nino  results  in  diminished

hurricanes in the Atlantic ocean but El Nino

Modoki  results  in  a  greater  number  of

hurricanes with greater frequency.

Select the correct answer using the code

given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

9. The seasonal reversal of winds is the typical

characteristic of(2014)

(a) Equatorial climate

(b) Mediterranean climate

(e) Monsoon climate

(d) All of the above climates

10. Consider the following statements :   (2012)

1. The duration of the monsoon decreases from

southern India to northern India.

2. The amount of annual rainfall in the northern

plains of India decreases from east to west.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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11- mÙkjh xksyk/Z dh rqyuk esa nf{k.k xksyk/Z esa
if'peh iou vf/d l'kÙkQ rFkk LFkkbZ gksrh gSaA
D;ksa\  (2011)
1- mÙkjh&xksyk/Z dh rqyuk esa nf{k.k xksyk/Z esa Hkw&•aM

de gSA

2- mÙkjh xksyk/Z dh rqyuk esa nf{k.k xksyk/Z esa dksfjvkWfyl

cy vf/d gksrk gSA

mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\
(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2

12- fuEufyf•r dFkuks ij fopkj dhft,  2015)
1- iqjs o"kZ 30° N vkSj 60° S v{kka'kksa ds chp cgus okyh

gok,¡ (osLVjyht) dgykrh gSA

2- Hkkjr ds mÙkj&if'peh {ks=k esa 'khrdkyhu o"kkZ ykus

okyh vkæZ ok;q lagfr;k¡ (ekWbLV ,;j eklst) iNqvk

gokvksa ds Hkkx gSA

mi;ZqÙkQ dFkuksa esa ls dkSu & lk @ls lgh gS@ gSaA
(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2

13- vÚhdh vkSj ;wjsf'k;kbZ e:LFkyh {ks=k ds fuekZ.k
dk@ds eq[; dkj.k D;k@D;k&D;k gks ldrk
gS@ldrs gSa\  (2011)
1- ;g miks".k mPp nkc dksf'kdkvksa (gkbZ çs'kj lsy) esa

vofLFkr gSA

2- ;g m".k egklkxj /kjkvksa ds çHkko {ks=k esa iM+rk gSA

bl lanHkZ esa mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls
dFku lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2

11.   Westerlies in southern hemisphere are

stronger and persistent than in northern

hemisphere. Why?  (2011)

1. Southern  hemisphere  has  less  landmass  as

compared to northern hemisphere.

2.    Coriolis force is higher in southern hemisphere

as compared to northern hemisphere.

Which of the statements given above is/are

correct  ?

(a)    1 only

(b)    2 only

(c)    Both 1 and 2.

(d)    Neither 1 nor 2.

12. Consider the following statements(2015)

1. The winds which blow between 30o N and 60o

S latitudes throughout the year are known as

westerlies.

2. The moist air masses that cause winter rams in

North-Western  region  of  India  are  part  of

westerlies.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

13. What could be the main reason/reasons for the

formation of African and Eurasian desert belt

?   (2011)

1.    It is located in the sub-tropical high pressure

cells.

2.     It  is  under  the  influence  of  warm  ocean

currents.

Which of the statements given above is/are

correct in this  context ?

(a) 1 only

(b)  2 only.

(c)  Both 1 and 2

(d)  Neither 1 nor 2
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14- fuEufyf•r dFkuksa ij fopkj dhft, %
1- m".kdfVca/h; {ks=k esa] O;kikfjd iou ds çHkko ds

dkj.k iwohZ •aMksa dh rqyuk esa egklkxjksa ds if'peh
•aM vf/d m".k gksrs gSaA

2- 'khrks".k {ks=k esa] if'peh iou if'peh •aMksa dh rqyuk
esa egklkxjksa ds iwohZ •aMksa dks vf/d m".k cukrk gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@dkSu&ls lgh
gS@gSa\

(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2

15- fuEufyf•r es ls dkSu&lh ,d m".kdfVcU/h;
lokuk çns'k dh tyok;q dh eq[; fo'ks"krk gS\
(2012)

(a) o"kZ&Hkj o"kkZ
(b) dsoy 'khrdky esa o"kkZ
(c) vR;Ur vYidkfyd 'kq"d ½rq
(d) fuf'pr 'kq"d rFkk vkæZ ½rq

16- tyok;q pje gS] o"kkZ de gS vkSj yksx pyoklh
i'kqpkjd gqvk djrs FksA
mi;ZqÙkQ dFku fuEufyf•r {ks=ksa esa ls fdldk
lcls vPNk o.kZu gS\ (2013)

(a) vÚhdh lokuk
(b) eè; ,f'k;kbZ LVsi
(c) mÙkjh vejhdh çsvjh
(d) lkbcsfj;kbZ VqUMªk

17- lokuk dh ouLifr esa fc•js gq, NksVs ò{kksa ds
lkFk ?kkl ds eSnku gksrs gSa] fdUrq foLr`r {ks=k esa
dksbZ o`{k ugha gksrs gSaA ,sls {ks=kksa esa ou fodkl
lkekU;r% ,d ;k ,dkf/d ;k dqN ifjfLFkfr;ksa
ds la;kstu ds }kjk fu;af=kr gksrk gSA ,slh
ifjfLFkfr;k¡ fuEufyf•r esa ls dkSu&lh gSa\
1- fcydkjh çk.kh vkSj nhed
2- vfXu
3- pjus okys r`.kHk{kh çk.kh (gfcZokslZ)
4- ekSleh o"kkZ
5- e`nk ds xq.k
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) 1 vkSj 2
(b) 4 vkSj 5
(c) 2] 3 vkSj 4
(d) 1]3 vkSj 5

14. Consider the following statements : (2021)

1. In the tropical zone, the western sections of the
oceans are warmer  than  the eastern  sections
owing to the influence of trade winds.

2. In  the  temperate  zone,  westerlies  make  the

eastern  sections  of  oceans  warmer  than  the
western sections.

Which of the statements given above is/are
correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2 

15. Which one of the following is the characteristic
climate of the Tropical Savannah Region?
(2012)

(a) Rainfall throughout the year
(b) Rainfall in winter only

(c) An extremely short dry season
(d) A definite dry and wet season

16. “Climate is extreme, rainfall is scanty and the
people used to be nomadic herders.” (2013)

The above statement best describes which of

the following regions?

(a) African Savannah

(b) Central Asian Steppe
(c) North American Prairie

(d) Siberian Tundra

17. The vegetation of savannah consists of

grassland with scattered small trees, but
extensive areas have no trees. The forest
development in such areas is generally kept
in check by one or more or a combination of
some conditions. Which of the following are

such conditions? (2021)

1. Burrowing animals and termites
2. Fire

3. Grazing herbivores
4. Seasonal rainfall 
5. Soil properties
Select the correct answer using the code given
below. 

(a) 1 and 2
(b) 4 and 5
(c) 2, 3 and 4

(d) 1, 3 and 5 
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18- ¶gj fnu dekscs'k ,d&lk gh gksrk gSA lqcg]
leqæh eUn iou ds lkFk] lkiQ vkSj mtyh
gksrh gSA tSls&tSls lw;Z vkdk'k esa Åij p<+rk
tkrk gS] xehZ c<+rh tkrh gS] ?kus ckny cuus
yxrs gS vkSj fiQj cknyksa dh xjt vkSj fctyh
dh ped ds lkFk o"kkZ gksus yxrh gSA ysfdu
o"kkZ 'kh?kz gh lekIr gks tkrh gSA¸
mi;ZqÙkQ m¼j.k esa fuEufyf•r {ks=kksa esa ls fdldk
o.kZu fd;k x;k gS \ (2015)

(a) lokuk
(b) fo"kqorh;
(c) ekWulwu
(d) Hkweè;lkxjh;

19- ¶iÙkh&dwM+k (yhiQ fyVj) fdlh vU; thokse
(ck;kse) dh rqyuk esa rsth ls fo?kfVr gksrk gS
vkSj blds ifj.kkeLo:i feêðh dh lrg çk;%
vuko`r gksrh gSA isM+ksa ds vfrfjÙkQ] ou esa
fofo/ çdkj ds ikS/s gksrs gSa tks vkjksg.k ds
}kjk ;k vf/ikni (,fiiQkbV) ds :i esa
iuidj isM+ksa ds 'kh"kZ rd igq¡pdj çfrLFk gksrs
gSa vkSj isM+ksa dh Åijh 'kk•kvksa esa tM+sa tekrs
gSaA¸ ;g fdldk lcls vf/d lVhd fooj.k
gS\

(a) 'kadq/kjh ou
(b) 'kq"d i.kZikrh ou
(c) xjku (eSaxzkso) ou
(d) m".kdfVca/h; o"kkZou

20- egk}hiksa ds vUr%LFkksa dk okf"kZd rki&ifjlj
rVh; {ks=ksa dh vis{kk vf/d gksrk gSA bldk@blds
D;k dkj.k gS@gSa\ (2013)
1- Hkwfe vkSj ty ds chp rkih; vUrj
2- egk}hiksa vkSj egklkxjksa ds chp rqaxrk esa vUrj
3- vUr%LFkksa esa rst iouksa dh fo|ekurk
4- rVksa dh vis{kk vUr%LFkksa esa gksus okyh Hkkjh o"kkZ
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1
(b) dsoy 1 vkSj 2
(c) dsoy 2 vkSj 3
(d) 1] 2] 3 vkSj 4

18. “Each day is more or less the same, the

morning is clear and bright with a sea breeze;

as the sun climbs high in the sky, heat mounts

up, dark clouds form, than rain comes with

thunder and lightning. But rain is soon over.”

Which of the following regions is described in

the above passage? (2015)

(a) Savannah

(b) Equatorial

(c) Monsoon

(d) Mediterranean

19. “Leaf litter decomposes faster than in any

other biome and as a result the soil surface is

often almost bare. Apart from trees, the

vegetation is largely composed of plant forms

that reach up into the canopy vicariously, by

climbing the trees or growing as epiphytes,

rooted on the upper branches of trees.” This

is the most likely description of 

(a) coniferous forest

(b) dry deciduous forest

(c) mangrove forest

(d) tropical rain forest 

20. The annual range of temperature in the interior

of the continents is high as compared to coastal

areas. What is / are the reason / reasons?

(2013)

1. Thermal difference between land and water

2. Variation  in altitude between continents and

oceans

3. Presence of strong winds in the interior

4. Heavy  rains  in  the  interior  as  compared  to

coasts

Select the correct answer using the codes

given below.

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1, 2, 3 and 4
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21- rfMr >a>k ds nkSjku] vkdk'k es a rfMr~
fdlds@fduds }kjk mRiUu gksrh gS@gSa\ (2013)
1- vkdk'k esa diklh&o"khZ es?kksa ds feyus ls
2- rfMr~ ls] tks o"kkZ es?kksa dks i`Fkd~ djrh gS
3- gok vkSj ty d.kksa ds Åij dh vksj rhoz pyu ls
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1
(b) 2 vkSj 3
(c) 1 vkSj 3
(d) mi;ZqÙkQ esa ls dksbZ Hkh rfM?r~ mrikfnr ugha

22- es?kkPNkfnr jkr esa vksl dh cwansa D;ksa ugha
curha\

(a) Hkwi`"B ls fueZqÙkQ fofdj.k dks ckny vo'kksf"kr dj
ysrs gSaA

(b) ìFoh ds fofdj.k dks ckny okil ijkofrZr dj nsrs gSaA
(c) es?kkPNkfnr jkrksa esa Hkwi`"B dk rkieku de gksrk
(d) ckny cgrs gq, iou dks Hkwfery dh vksj fo{ksfir

dj nsrs gSaA

23- m".kdfVca/h; (VªkWfidy) v{kka'kksa esa nf{k.kh
vVykafVd vkSj nf{k.k&iwohZ ç'kkUr {ks=kksa esa pØokr
mRiUu ugha gksrkA bldk D;k dkj.k gS \ (2015)

(a) leqæh i`"Bksa ds rki fuEu gksrs gS
(b) vUr% m".kdfVca/h; vfHklkjh {ks=k (baVj&VªkWfidy

dUotZsl tksu) fcjys gh gksrk gS
(c) dksfjvkWfyl cy vR;Ur nqcZy gksrk gS
(d) mu {ks=kksa esa Hkwfe ekStwn ugha gksrh

21. During a thunderstorm, the thunder in the
skies is produced by the(2013)

1. meeting of cumulonimbus clouds in the sky
2. lightning that separates the nimbus clouds
3. violent  upward  movement  of  air  and  water

particles
Select the correct answer using the codes
given below.

(a) 1 only
(b) 2 and 3
(c) 1 and 3
(d) None of the above produces the thunder

22. Why are dewdrops not formed on a cloudy
night?

(a) Clouds absorb the radiation released from the

Earth’s  surface.

(b) Clouds reflect back the Earth’s radiation.

(c) The  Earth’s  surface  would  have  low

temperature on cloudy nights.

(d) Clouds deflect the blowing wind to ground level.

23.  In the South Atlantic and South Eastern Pacific

regions in tropical latitudes, cyclone does not

originate. What is the reason? (2015)

(a) Sea Surface temperature are low

(b) Inter Tropical Convergence Zone seldom occurs

(c) Coriolis force is too weak

(d) Absence of land in those regions
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24. Which of the following has/have shrunk
immensely/dried up in the recent past due to
human activities ? (2018)

1. Aral Sea
2. Black Sea
3. Lake Baikal
Select the correct answer using the code given
below :

(a) 1 only
(b) 2 and 3
(c) 2 only
(d) 1 and 3

25. With reference to the Earth's atmosphere,

which one of the following statements is

correct? (2023)

(a) The total amount of  insolation received at

the equator is roughly about 10 times of that

received at the poles.

(b) Infrared rays constitute roughly two-thirds

of insolation.

(c) Infrared waves are largely absorbed by water

vapour  that    is  concentrated  in  the  lower

atmosphere.

(d) Infrared waves are a part of visible spectrum

of electromagnetic waves of solar radiation.

24- fuEufyf•r esa ls dkSu&lk@ls ekuo fØ;kdykiksa
ds dkj.k gky esa cgqr vf/d ladqfpr gks
x;k gS @ lw• x;k gS \ (2018)
1- vjky lkxj

2- dkyk lkxj

3- cSdky >hy

fups fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, %

(a) dsoy 1 (b) 2 vkSj 3

(c) dsoy 2 (d) 1 vkSj 3

72- i`Foh ds ok;qeaMy ds lanHkZ esa] fuEufyf•r dFkuksa

esa ls dkSu&lk ,d lgh gS \  (2023)

(a) Hkweè;js•k ij çkIr gksus okys lw;Zrki dh dqy

ek=kk] è#oksa ij çkIr gksus okys lw;Zrki dh dqy

ek=kk dh yxHkx 10 xquh gSA

(b) vojÙkQ fdj.ksa lw;Zrki ds yxHkx nks&frgkbZ Hkkx gSaA

(c) vojÙkQ rjaxsa fupys ok;qeaMy esa ladsafær tyok"i

}kjk o`gn~ :i ls vo'kksf"kr gksrh gSa A

(d) vojÙkQ rjaxsa lkSj fofdj.k dh fo|qr~ pqEcdh;

rjaxksa ds n`';eku LisDVªe ds Hkkx gSaA



©TheCoreIAS www.thecoreias.com 

11

VEGETATION & BIODIVERSITY

1- fuEufyf•r dFkuksa ij fopkj dhft,%   (2011)
1- mPprj v{kka'kksa dh rqyuk esa fuEurj v{kka'kksa esa

thofofo/rk lkekU;r% vf/d gksrh gSA
2- ioZrh; ço.krkvksa (xzsfM,UV~l) esa] mPprj mUurka'kksa

dh rqyuk esa fuEurj mUurka'kksa esa thofofo/rk lkekU;r%
vf/d gksrh gSA

mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

2- ;fn m".kdfVca/h; o"kkZ&ou dkV fn;k tk,] rks
;g m".kdfVca/h; i.kZikrh ou dh rqyuk esa
'kh?kz iqu;kZsftr ugha gks ikrkA ,slk blfy, gksrk
gS D;ksafd   (2011)

(a) o"kkZ&ou dh e`nk esa iks"kdksa dk vHkko gksrk gS
(b) o"kkZ&ou esa ò{kksa ds çoè;ks± dh thou{kerk nqcZy gksrh gS
(c) o"kkZ&ou dh tkfr;ka /heh xfr ls c<+rh gSa
(d) fons'kt tkfr;ka o"kkZ&ou dh moZj e`nk ij vfrØe.k

dj tkrh gSa

3- fuEufyf•r esa ls dkSu&lh] fo"kqorh; ouksa dh
vf}rh; fo'ks"krk gS@fo'ks"krk,¡ gSa\ (2013)
1- Å¡ps] ?kus o`{kksa dh fo|ekurk ftuds fdjhV fujUrj

forku cukrs gksa
2- cgqr&lh tkfr;ksa dk lg&vfLrRo gks
3- vf/ikniksa dh vla[; fdLeksa dh fo|ekurk gks
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 (b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

4- fuEufyf•r dFkuksa ij fopkj dhft,(2018)
1- fo'o dh lokZf/d çoky fHkfÙk;k¡A m".kdfVca/h;

lkxj tyksa esa feyrh gSa A
2- fo'o dh ,dfrgkbZ ls vf/d çoky fHkfÙk;k¡

vkWLVªsfy;kbaMksusf'k;k vkSj fiQyhihUl ds jkT;{ks=kksa esa
fLFkr gSaA

3- m".kdfVca/h; o"kkZ ouksa dh vis{kk] çoky fHkfÙk;k¡
dgha vf/d la[;k esa tUrq la?kksa dk ijiks"k.k djrh gSaA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS gSa \
(a) dsoy 1 vkSj 2 (b) dsoy 3
(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

VEGETATION & BIODIVERSITY
1.    Consider the following statements :   (2011)

1.    Biodiversity is normally greater in the lower
latitudes as compared to the higher latitudes.

2.    Along the mountain gradients, biodiversity is
normally  greater  in  the  lower  altitudes  as
compared to the higher altitudes.

Which of the statements given above is/are
correct ?

(a)    1 only.
(b)    2 only.
(c)    Both 1 and 2.
(d)    Neither 1 nor 2.

2. If a tropical rain forest is removed, it does not
regenerate quickly as compared to a tropical
deciduous forest. This is because ?   (2011)

(a)  The soil of rain forest is deficient in nutrients.
(b) Propagules of  the  trees  in a  rain  forest have

poor viability.
(c) The rain forest species are slow-growing.
(d) Exotic species invade the fertile soil of rain forest.

3. Which of the following is/are unique
characteristic/characteristics of equatorial
forests? (2013)

1. Presence of tall, closely set trees with crowns
forming a continuous canopy

2. Coexistence of a large number of species
3. Presence of numerous varieties of epiphytes
Select the correct answer using the code given
below:

(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1, 2 and 3

4. Consider the following statements(2018)

1. Most of the world’s coral reefs are in tropical
waters.

2. More than one-third of the world’s coral reefs
are  located  in  the  territories  of   Australia,
Indonesia and Philippines.

3. Coral  reefs host  far more number of  animal
phyla than those hosted by tropical rainforests.

Which of the statements given above is/are
correct ?

(a) 1 and 2 only
(b) 3 only
(c)  1and 3 only
(d) 1, 2 and 3
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5 fgeky; ioZrçns'k tkfr&fofo/rk dh n`f"V ls
vR;ar le`¼ gSA bl lao`fr ds fy, fuEufyf•r
es a ls dkSu&lk dkj.k lcls mi;qÙkQ gS\
(2011)

(a) ;gka vf/d o"kkZ gksrh gS tks çpqj ouLifr o`f¼ dks

c<+kok nsrh gSA

(b) ;g fofHkUu tho&HkkSxksfyd {ks=ksa dk laxe gS

(c) bl {ks=k esa fons'kt rFkk vfrØked tkfr;ka ços'k ugha

djkbZ xbZ gSa

(d) ;gka euq";ksa dk de gLr{ksi gS

6- ;fn vki fgeky; ls gksdj ;k=k djrs gSa] rks
vkidks ogk¡ fuEufyf•r esa ls fdl ikni@fdu
ikniksa dks çkÑfrd :i esa mxrs gq, fn•us dh
lEHkkouk gS\ (2014)
1- ckat

2- cq#a'k

3- panu

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 vkSj 2

(b) dsoy 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

7- ^rkM+ rsy (ike vkW;y)* ds lanHkZ esa] fuEufyf•r
__ dFkuksa ij fopkj dhft, %
1- rkM+ rsy o`{k nf{k.k&iwoZ ,f'k;k esa çkÑfrd :i esa

ik;k tkrk gSA

2- rkM+ rsy fyifLVd vkSj b=k cukus okys dqN m|ksxksa

ds fy, dPpk eky gSA

3- rkM+ rsy dk mi;ksx tSo Mhty ds mRiknu esa fd;k

tk ldrk gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&ls lgh gSa\
(a) dsoy 1 vkSj 2

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(a) 1]2 vkSj 3

5. The Himalayan Range is very rich in species

diversity. Which one among the following is

the most appropriate reason for this 

phenomenon ?   (2011)

(a) It  has  a high  rainfall  that  supports  luxuriant

vegetative  growth.

(b) It is a confluence of different bio-geographical

zones.

(c) Exotic  and  invasive  species  have  not  been

invasive species have not been introduced in

this region.

(d)    It has less human interference.

6. If you travel through the Himalayas, you are

likely to see which of the following plants

naturally growing there? (2014)

1. Oak

2. Rhododendron

3. Sandalwood

Select the correct answer using the code given

below

(a) 1 and 2 only

(b) 3 only      

(c) 1 and 3 only

(d) 1, 2 and 3

7. With reference to ‘palm oil, consider

the following statements : (2021)

1. The palm oil tree is native to Southeast Asia.

2. The  palm  oil  is  a  raw  material  for  some

industries producing lipstick and perfumes.

3. The palm oil can be used to produce biodiesel.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3 
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8- Hkkjr ds fufEUyf•r {ks=kksa esa ls fdl ,d esa]

eSaxzkso ou] lnki.khZ  ou vkSj i.kZikuh ouks dk

la;kstu gS \ (2015)

(a) mÙkj rVh; vUæ çns'k

(b) nf{k.k&if{ke caxky

(c) nf{k.kh lkSjk"Vª

(d) vUMeku vkSj fudksckj }hilegq

9- fuEufyf•r dFkuksa ij fopkj dhft, %

1- eksfjaxk (lgtu o`{k) ,d iQyhnkj lnki.khZ o`{k

2- beyh dk isM+ nf{k.k ,f'k;k dk LFkkfud o`{k

3- Hkkjr esa vf/dka'k beyh y?kq ouksRikn ds :i esa

lax`ghr dh tkrh gSA

4- Hkkjr beyh vkSj eksfjaxk ds cht fu;kZr djrk

5- eksfjaxk vkSj beyh ds chtksa dk mi;ksx tSo bZa/u ds

mRiknu esa fd;k tk ldrk gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&ls lgh gSa\

(a) 1] 2] 4 vkSj 5

(b) 3] 4 vkSj 5

(c) 1] 3 vkSj 4

(d) 1] 2] 3 vkSj 5

10- 2004 dh lqukeh us yksxksa dks ;g eglwl djk

fn;k fd xjku (eSaxzkso) rVh; vkinkvksa ds

fo#¼ fo'oluh; lqj{kk ckM+s dk dk;Z dj

ldrs gSaA xjku lqj{kk ckM+s ds :i esa fdl

çdkj dk;Z djrs gSa\ (2011)

(a) xjku vuwi gksus ls leqæ vkSj ekuo cfLr;ksa ds chp

,d ,slk cM+k {ks=k •M+k gks tkrk gS tgka yksx u rks

jgrs gSa u tkrs gSa

(b) xjku Hkkstu vkSj vkS"kf/ nksuksa çnku djrs gSa ftudh

çkÑfrd vkink ds ckn yksxksa dks t:jr iM+rh gS

(c) xjku ds o`{k ?kus forku ds yacs o`{k gksrs gSa tks

pØokr vkSj lqukeh ds le; mÙke lqj{kk çnku djrs

gSa

(d) xjku ds o`{k viuh l?ku tM+ksa ds dkj.k rwiQku vkSj
TokjHkkVs ls ugha m•M+rs

8. Which one of the following regions of India

has a combination of mangrove forest,

evergreen forest and deciduous forest? (2015)

(a) North Coastal Andhra Pradesh

(b) South-West Bengal

(c) Southern Saurashtra

(d) Andaman and Nicobar Islands

9. Consider the following statements : (2021) 

1. Moringa  (drumstick  tree)  is  a leguminous

evergreen  tree.  

2. Tamarind tree is endemic South Asia. 

3. In India, most of the tamarind is collected as

minor forest produce. 

4. India exports tamarind and seeds of moringa. 

5. Seeds of moringa and tamarind can be used in

the production of biofuels. 

Which of the statements given above are

correct? 

(a) 1, 2, 4 and 5 

(b) 3, 4 and 5 

(c) 1, 3 and 4 

(d) 1, 2, 3 and 5 

10.The 2004 Tsunami made people realize that

mangroves can serve as a reliable  safety

hedge against coastal calamities. How do

mangroves function as a safety hedge ?   (2011)

(a) The  mangrove  swamps  separate  the  human

settlements   from  the  sea by a wide  zone  in

which people neither live nor venture out.

(b) The mangroves provide both food and medicines

which people are in need of after any natural

disaster.

(c)  The  mangrove  trees  are  tall  with  dense

canopies  and  serve  as  an  excellent  shelter

during a cyclone or Tsunami.

(d) The  mangrove  trees  do not  get  uprooted  by

storms  and  tides because  of  their  extensive

roots.
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11- Hkkjr dk ,d fo'ks"k jkT; fuEufyf•r fo'ks"krkvksa
ls ;qÙkQ gS%  (2012)
1- ;g mlh v{kka'k ij fLFkr gS] tks mÙkjh jktLFkku ls

gksdj tkrk gS

2- bldk 80» ls vf/d {ks=k ou vkoj.kUrxZr gSA

3- 12» ls vf/d oukPNkfnr {ks=k bl jkT; ds jf{kr

{ks=k bl jkT; ds jf{kr {ks=kk usVodZ ds :i esa gS

fuEufyf•r jkT;ksa esa ls dkSu lk Åij nh xbZ lHkh

fo'ks"krkvksa ls ;qÙkQ gS\

(a) v:.kkpy çns'k

(b)  vle

(c)  fgekpy çns'k

(d)  mÙkjk•.M

12- fuEufyf•r jkT;ksa ij fopkj dhft, % (2015)
1- v#.kkpy çns'k

2- fgekpy çns'k

3- fetksje

mi;Z qÙkQ jkT;k s a e s a l s fdles a @ fdues a
^m".kdfVcUèkh; vkæZ lnki.khZ ou* gksrs gS \

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

13- lekpkjksa esa dHkh&dHkh fn•kbZ nsus okyks ^jsM
lSaMlZ* ds lanHkZ esa fuEufyf•r dFkuksa ij
fopkj dhft,A(2016)
1- ;g nf{k.k Hkkjr ds ,d Hkkx esa ikbZ tkus okyh ,d

o`{k tkrh gSA

2- ;g nf{k.k Hkkjr esa m".kdfVca/h; o"kkZou {ks=kksa ds

vfr egRoiw.kZ esa ls ,d gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
a(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1] u gh 2

11. A particular State in India has the following

characteristics :  (2012)

1. It is located on the same latitude which passes

through northern Rajasthan.

2. It has over 80% of its area under forest cover.

3. Over 12% of forest cover constitutes Protected

Area Network in this State.

Which one among the following States has all

the above characteristics?

(a) Arunachal Pradesh

(b) Assam

(c) Himachal Pradesh

(d) Uttarakhand

12. Consider the following States: (2015)

1. Arunachal Pradesh

2. Himachal Pradesh

3. Mizoram

In which of the following states do “Tropical

Wet Evergreen Forests” occur?

(a)1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

13. With reference to ‘Red Sanders’, sometimes

seen in the news, consider the following

statements: (2016)

1. It  is  a  tree  species  found  in  a  part  of  South

India.

2. It  is  one  of  the  most  important  trees  in  the

tropical rain forest areas of South India.

Which of the statements given above is/are

correct?

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2

(d) Neither 1 nor 2
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14- Hkkjr esa ] fuEufyf•r esa ls fdl ,d ou&çk:i
esa] lkxkSu (Vhd) ,d çHkkoh o`{k Lih'kht gS
\ (2015)

(a) m".kdfVca/h; vkæZ i.kZikrh ou
(b) m".kdfVca/h; o"kkZ ou
(c) m".kdfVca/h; d¡Vhyh >kM+h ou
(d) ?kklLFky;qÙkQ 'khrks".k ou

15- Hkkjr dh vkæZHkwfe;ksa ds lUnHkZ esa fuEufyf•r
dFkuksa ij fopkj dhft,%  (2012)
1- vkæZHkwfe ds vUrxZr ns'k dk dqy HkkSxksfyd {ks=k vU;

jkT;ksa dh rqyuk esa xqtjkr esa vf/d vafdr gSA
2- Hkkjr esa rVh; vkæZHkwfe dk dqy HkkSxksfyd {ks=k]

vkUrfjd vkæHkwfe ds dqy HkkSxksfyd {ks=k ls vf/d gSA
mi;ZqÙkQ esa ls dkSu&lk @dFku lgh gS@gS\

(a) dsoy 1 (b) dsoy 2
(c) dsoy 1] vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

16 -fuefUyf•r us'kuy ikdks± esa ls fdl ,d dh
tyok;q m".kdfVca/h; ls miks".k] 'khrks".k vkSj
vkdZfVd rd ifjofrZr gksrh gS \ (2015)

(a) daputa?kk us'kuy ikdZ (b) uanknsoh us'kuy ikdZ
(c) usojk oSyh us'kuy ikdZ (d) ukeniQk us'kuy ikdZ

17- fuEufyf•r ;qXeksa ij fopkj dhft, %

f'k•j ioZr

1- ukepk cjok x<+oky fgeky;

2- uank nsoh dqekÅ¡ fgeky;

3- uksdjsd flfDde fgeky;

mi;ZqÙkQ ;qXeksa esa dkSu&lk@ls lgh lqesfyr gS@gSa \

(a) 1 vkSj 2 (b) dsoy 2

(c) 1 vkSj 3 (d) dsoy 3

18- fuEufyf•r esa ls dkSu&lk uS'kuy ikdZ iw.kZr;k
'khrks".k vYikbu dfVca/ esa fLFkr gS\ (2019)

(a) ekul uS'kuy ikdZ (b) ukeniQk uS'kuy ikdZ

(c) usvksjk ?kkVh uS'kuy ikdZ (d) iQwyksa dh ?kkVh uS'kuy ikdZ

14. In India, in which one of the following types of

forests is teak a dominant tree species? (2015)

(a) Tropical moist deciduous forest

(b) Tropical rain forest

(c) Tropical thorn scrub forest

(d) Temperate forest with grasslands

15. With reference to the wetlands of India,

consider the following statements :  (2012)

1. The country’s total geographical area under the

category  of  wetlands  is  recorded  more  in

Gujarat as compared to other States.

2. In India, the total geographical area of coastal

wetlands larger than that of wetlands.

Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

16. Which one of the following National Parks has

a climate that varies from tropical to

subtropical, temperate and arctic? (2015)

(a) Khangchendzonga National park

(b) Nandadevi National Park

(c) Neora Valley National Park

(d) Namdapha National park

17. Consider the following pairs? (2022)

Peak Mountains

1. Namcha  Barwa - Garhwal Himalaya

2. Nanda Devi - Kumaon Himalaya

3. Nokrek - Sikkim Himalaya

Which of the pairs given above is/are correctly

matched?

(a) 1 and 2 (b) 2 only

(c) 1 and 3 (d) 3 only

18. Which one of the following National Parks lies

completely in the temperate alpine zone?

(2019)

(a) Manas National Park

(b) Namdapha National Park

(c) Neora Valley National Park

(d) Valley of Flowers National Park
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19- ikfjfLFkfrd ǹf"Vdks.k ls] iwohZ ?kkVksa vkSj if'peh
?kkVksa ds chp ,d vPNk laidZ gksus ds :i esa
fuEufyf•r esa ls fdldk egRo vf/d gS\
(2017)

(a) lR;keaxye ck?k vkjf{kr {ks=k (lR;eaxye Vkbxj
fjtoZ)

(b) uYykeyk ou
(c) ukxjgksys jk"Vªh; m|ku
(d) 'ks"kkpye thoe.My vkjf{kr {ks=k ('ks"kkpye

ck;ksLiQh;j fjtoZ)

20- fuEufyf•r esa ls dkSu&ls vxLR;ekyk thoeaMy
fjtoZ esa vkrs gSa\ (2019)

(a) usÕ;kj] isIikjk vkSj 'ksanquZs oU; çk.kh vHk;kj.;_ vkSj
dykdM+ eqanUFkqjkbZ ck?k fjtoZ

(b) eqnqeykbZ] lR;eaxye vkSj ok;ukM oU; çk.kh vHk;kj.;_
vkSj lkbysaV oSyh uS'kuy ikdZ

(c) dkSafMU;] xqaMyk czãs'oje vkSj ikihdksaMk oU; çk.kh
vHk;kj.;_ vkSj eqdqFkhZ uS'kuy ikdZ

(d) dkoy vkSj JhosadVs'oj oU; çk.kh vHk;kj.; vkSj
ukxktZqulkxj&Jh'kSye ck?k fjtoZ

21- ;fn vki ?kfM?;ky dks muds çkÑfrd vkokl
esa ns•uk pkgrs gSa] rks fuEufyf•r esa ls fdl
LFkku ij tkuk lcls lgh gS\ (2017)

(a) fHkrjdf.kdk eSUxzkso
(b) pEcy unh
(c) iqfydV >hy
(d) nhij chy

22- fuEufy•r jf{kr {ks=kksa ij fopkj dhft, %
(2012)
1- ckanhiqj
2- Hkhrjdkf.kdk
3- ekul
4- lqUnjcu
mi;ZqÙkQ es dkSu&ls ck?k& vkjf{kr {ks=k ?kksf"kr
gS\

(a) dsoy 1] vkSj 2
(b) dsoy 1] 3 vkSj 4
(c) dsoy 2] 3] vkSj 4
(d) 1] 2] 3] vkSj 4

19. From the ecological point of view, which one

of the following assumes importance in being

a good link between the Eastern Ghats and

the Western Ghats? (2017)

(a) Sathyamangalam Tiger Reserve

(b) Nallamala Forest

(c) Nagarhole National Park

(d) Seshachalam Biosphere Reserve

20. Which of the following are in Agasthyamala

Biosphere Reserve? (2019)

(a)  Neyyar,  Peppara  and  Shendurney  Wildlife

Sanctuaries; and Kalakad Mundanthurai Tiger

Reserve

(b)  Mudumalai,  Sathyamangalam  and Wayanad

Wildlife Sanctuaries; and Silent Valley National

Park

(c)  Kaundinya,  Gundla  Brahme-swaram  and

Papikonda Wildlife Sanctuaries; and Mukurthi

National Park

(d)  Kawal  and  Sri  Venkateswara  Wildlife

Sanctuaries;  and  Nagarjunasagar-Srisailam

Tiger Reserve

21. If you want to see gharials in their natural

habitat, which one of the following is the best

place to visit? (2017)

(a) Bhitarkanika Mangroves

(b) Chambal River

(c) Pulicat Lake

(d) Deepor Beel

22. Consider the following areas:  (2012)

1. Bandipur

2. Bhitarkanika

3. Manas

4. Sunderbans

Which of the above are Tiger Reserves?

(a) 1 and 2 only

(b) 1, 3 and 4 only

(c) 2, 3 and 4 only

(d) l, 2, 3 and 4



©TheCoreIAS www.thecoreias.com 

17

23- fuEufyf•r jkT;ksa esa ls fdl ,d esa ik•qbZ
oU;tho vHk;kj.; vofLFkr gS \

(a) v#.kkpy çns'k
(b) ef.kiqj
(c) es?kky;
(d) ukxkySaM

24- fuEufyf•r jkT;ksa ij fopkj dhft, %
1- NÙkhlx<+
2- eè; çns'k
3- egkjk"Vª
4- vksfM'kk
mi;ZqÙkQ jkT;ksa ds lanHkZ esa] jkT; ds dqy {ks=kiQy
dh rqyuk esa ou vkPNknu dh çfr'krrk ds
vk/kj ij fuEufyf•r esa ls dkSu&lk lgh
vkjksgh vuqØe gS\

(a) 2&3&1&4
(b) 2&3&4&1
(c) 3&2&4&1
(d) 3&2&1&4

25- fuEufyf•r o`{kksa ij fopkj dhft, % (2023)

1- dVgy (vkVkZsdkiZl gsVsjksiQkbyl)

2- egqvk ( e/qdk bafMdk)

3- lkxkSu (VsDVksuk xzSfUMl)

mi;ZqÙkQ esa ls fdrus i.kZikrh o`{k gSa\

(a) dsoy ,d

(b) dsoy nks

(c) lHkh rhu

(d) dksbZ Hkh ugha

23. In which one of the following States is Pakhui

Wildlife Sanctuary located? (2018)

(a) Arunachal Pradesh

(b) Manipur

(c) Meghalaya

(d) Nagaland

24. Consider the following States: (2019)

1. Chhattisgarh

2. Madhya Pradesh

3. Maharashtra

4. Odisha

With reference to the States mentioned above,

in terms of percentage of forest cover to the

total area of State, which one of the following

is the correct ascending order?

(a) 2-3-1-4

(b) 2-3-4-1

(c) 3-2-4-1

(d) 3-2-1-4

25. Consider the following trees: (2023)

1. Jackfruit (Artocarpus heterophyllus)

2. Mahua (Madhuca indica)

3. Teak (Tectona grandis)

How many of the above are deciduous trees?

(a) Only one

(b) Only two

(c) All three

(d) None
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26. Consider the following statements: (2023)

Statement-I :

The soil in tropical rain forests is rich in nutrients.

Statement-II :

The high temperature and moisture of tropical rain

forests cause dead organic matter in the soil  to

decompose quickly.

Which one of the following is correct in

respect of the above statements?

(a) Both  Statement-I  and  Statement-II  are

correct  and  Statement-II  is  the  correct

explanation for Statement-I

(b) Both Statement-I  and Statement-II  correct

and  Statement-II  is  not  the  correct

explanation Statement-I

(c) Statement-I  is  correct  but  Statement-II  is

incorrect

(d) Statement-I is incorrect but Statement-II is

correct

73- fuEufyf•r dFkuksa ij fopkj dhft, %

dFku & I %

m".kdfVca/h; o"kkZouksa dh e`nk iks"kd rÙoksa ls Hkjiwj

gksrh gSA

dFku& II %

m".kdfVca/h; o"kkZouksa ds mPp rki vkSj vkæZrk ds dkj.k

e`nk esa fo|eku e`r tSo inkFkZ dk æqr vi?kVu gksrk gSA

mi;ZqÙkQ dFkuksa ds ckjs esa] fuEufyf•r esa ls dkSu&lk

,d lgh gS \

(a) dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II]

dFku&I dh lgh O;k[;k gS

(b) dFku&I vkSj dFku& II nksuksa lgh gSa rFkk dFku&II]

dFku&I dh lgh O;k[;k ugha gS

(c) dFku&I lgh gS fdUrq dFku&II xyr gS

(d) dFku&I xyr gS fdUrq dFku&II lgh gS
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 RIVER & WATER RESOURCES

1. Two important rivers- one with its source in

Jharkhand (and known by a different name in

odisha), and another, with its source in odisha-

merge at a place only a short distance from the

coast of bay of Bengal before flowing into the

sea. This is an important site of wildlife and

biodiversity  and a protected area. Which one

of the following could be this ?   (2011)

(a)    Bhitarkanika

(b)    Chandipur-on-sea.

(c)    Gopalpur-on-sea.

(d)    Simlipal.

2. Consider the following pairs: (2019)

Glacier River

1. Bandarpunch Yamuna

2. Bara Shigri Chenab

3. Milam Mandakini

4. Siachen Nubra

5. Zemu Manas

Which of the pairs given above are correctly

matched?

(a) 1, 2 and 4

(b) 1, 3 and 4

(c) 2 and 5

(d) 3 and 5

3. Siachen Glacier is situated to the  (2020)

(a) East of Aksai Chin

(b) East of Leh

(c) North of Gilgit

(d) North of Nubra Valley

4. Consider the following pairs(2019)

Famous place River

1. Pandharpur Chandrabhaga

2. Tiruchirappalli Cauvery

3. Hampi Malaprabha

Which of the pairs given above are correctly

matched?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

RIVER & WATER RESOURCES

1- nks egRoiw.kZ ufn;ka&ftuesa ls ,d dk lzksr
>kj•aM esa gS (vkSj tks mM+h'kk esa nwljs uke ls
tkuh tkrh gS) rFkk nwljh ftldk lzksr mM+h'kk
esa gS& leqæ esa çokg djus ls iwoZ ,d ,sls
LFkku ij laxe djrh gSa tks caxky dh •kM+h ls
dqN gh nwj gSA ;g oU;thou rFkk tSofofo/rk
dk çeq• LFky gS vkSj lqjf{kr {ks=k gSA fuEufyf•r
esa og LFky dkSu&lk gS\   (2011)

(a) fHkrjdfudk
(b) pkanhiqj&vkWu&lh
(c) xksikyiqj&vkWu&lh
(d) fleyhiky

2- fuEufyf•r ;qXeksa ij fopkj dhft, %
fgeun % unh

1- canjiw¡N % ;equk
2- ckjk f'kxzh % psukc
3- feyke % eankfduh
4- fl;kfpu % uqczk
5- tsew % ekul
mi;ZqÙkQ esa ls dkSu&ls ;qXe lgh lqesfyr gSa\

(a) 1] 2 vkSj 4
(b) 1] 3 vkSj 4
(c) 2 vkSj 5
(d) 3 vkSj 5

3- fl;kfpu fgeun dgk¡ fLFkr gS \(2020)
(a) vDlkbZ fpu ds iwoZ esa
(b) ysg ds iwoZ esa
(c) fxyfxV ds mÙkj esa
(d) uqczk ?kkVh ds mÙkj esa

4- fuEufyf•r ;qXeksa ij fopkj dhft, % (2019)
çfl¼ LFkku % unh

1- ia<jiqj % paæHkkxk
2- fr#fpjkiYyh % dkosjh
3- gaih % ekyçHkk
mi;ZqÙkQ esa ls dkSu&ls ;qXe lgh lqesfyr gSa\

(a) dsoy 1 vkSj 2
(b) dsoy 2 vkSj
(c) dsoy 1 vkSj 3
(d) 1] 2 vkSj 3
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5- fla/q unh ç.kkyh ds lanHkZ esa] fuEufyf•r
pkj ufn;ksa esa ls rhu ufn;k¡ buesa ls fdlh
,d unh esa feyrh gSa tks lh/s fla/q unh ls
feyrh gSA fuEufyf•r esa ls og unh dkSu&lh
gS] tks fla/q unh ls lh/s feyrh gS\

(a) psukc (b) >sye
(c) jkoh (d) lryqt

6- fufEUyf•r ufn;ksa ij fopkj dhft, % (2015)
1- oa'k/kjk
2- baækorh
3- ç.kfgrk
4- isUukj
mi;qÙkQZ esa ls dkSu&lh xksnkojh dh lgk;d
ufn;k¡ gSa \

(a) 1] 2 vkSj 3 (b) 2] 3 vkSj 4
(c) 1] 2 vkSj 4 (d) dsoy 2 vkSj 3

7- nf{k.k Hkkjr dh xafMdksVk ?kkVh (dSU;u) fuEufyf•r
ufn;ksa esa ls fdl ,d ls fufeZr gqbZ gS \

(a) dkosjh (b) eaftjk

(c) isUukj (d) rqaxHkæk

8- fuEufyf•r ufn;ksa ij fopkj dhft, %
1- czkã.kh 2- ukxkoyh
3- lqo.kZjs•k 4- oa'k/kjk
mi;qÙkQ esa ls dkSu&lh ufn;k¡ iwohZ ?kkV ls
fudyrh gSa\

(a) 1 vkSj 2 (b) 2 vkSj 4
(c) 3 vkSj 4 (d) 1 vkSj 3

9- fuEufyf•r ufn;ksa ij fopkj dhft,%(2014)
1- cjkd
2- yksfgr
3- lqcfUlfj
mi;ZqÙkQ esa ls dkSu&lh v#.kkpy çns'k ls
gksdj cgrh gS@gSa\

(a) dsoy 1
(b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3
(d) 1] 2 vkSj 3

5. With reference to the Indus river system, of

the following four rivers, three of them pour

into one of them which joins the Indus direct.

Among the following, which one is such river

that joins the Indus direct? (2021) 

(a) Chenab  (b) Jhelum 

(c) Ravi  (d) Sutlej 

6. Consider the following rivers : (2015)

1. Vamsadhara 2. Indravati

3. Pranahita 4. Pennar

Which of the above are tributaries of Godavari

(a)1,2 and 3 (b) 2,3 and 4

(c) 1,2 and 4 (d) 2 and 3 only

7. Gandikota canyon of South India was created

by which one of the following rivers ? (2022)

(a) Cauvery (b) Manjira

(c) Pennar (d) Tungabhadra

8. Consider the following rivers : (2021) 

1. Brahmani

2. Nagavali

3. Subarnarekha 

4. Vamsadhara 

Which of the above rise from Eastern Ghats? 

(a) 1 and 2 

(b) 2 and 4 

(c) 3 and 4 

(d) 1 and 3 

9. Consider the following rivers: (2014)

1. Barak

2. Lohit

3. Subansiri

Which of the above flows / flow through

Arunachal Pradesh?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3
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10- fuEufyf•r esa ls dkSu&lh] czãiq=kk dh lgk;d
unh gS@ufn;ka gSa\ (2016)
1- fnckax
2- desax
3- yksfgr
uhps fn, x, dwV dk ç;kx dj lgh mÙkj
pqfu,A
a(a) dsoy 1
(b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3
(d) 1]  2 vkSj 3

11- rhLrk unh ds lUnHkZ esa] fuEufyf•r dFkuksa ij
fopkj dhft,%(2017)
1- rhLrk unh dk mn~xe ogh gS tks czãiq=k dk gS ysfdu

;g flfDde ls gksdj cgrh gSA
2- jaxhr unh dh mRifÙk flfDde esa gksrh gS vkSj ;g

rhLrk unh dh ,d lgk;d unh gSA
3- rhLrk unh] Hkkjr ,oa ckaXykns'k dh lhek ij caxky

dh •kM+h esa tk feyrh gSA
mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1 vkSj 3
(b) dsoy 2
(c) dsoy 2 vkSj 3
(d) 1] 2 vkSj 3

12- ueZnk unh if'pe dh vksj cgrh gS] tcfd
vf/dka'k vU; çk;}hih; cM+h ufn;k¡ iwoZ dh
vksj cgrh gSaA ,slk D;ksa gS\ (2013)
1- ;g ,d js•h foHkza'k (fjÚV) ?kkVh esa jgrh gSA
2- ;g foUè; vkSj lriqM+k ds chp cgrh gSA
3- Hkwfe dk <yku eè; Hkkjr ls if'pe djh vksj gSA
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 (b) 2 vksj 3
(c) 1 vkSj 3 (d) dksbZ ugha

13- gky gh esa fuEufyf•r ufn;ksa esa ls fdudks
tksM+us dk dk;Z fd;k x;k Fkk\ (2016)

(a) dkosjh vkSj rqaxHkæk
(b) xksnkojh vkSj Ñ".kk
(c) egkunh vkSj lksu
(d) ueZnk vkSj rkIrh

10. Which of the following is/are tributary

tributaries of Brahmaputra? (2016)

1. Dibang 

2. Kameng

3. Lohit

Select the correct answer using the code given

below.

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

11. With reference to river Teesta, consider the

following statements: (2017)

1. The source of river Teesta is the same as that

of Brahmaputra but it flows through Sikkim.

2. River Rangeet originates in Sikkim and it is a

tributary of river Teesta.

3. River Teesta flows into Bay of Bengal on the

border of India and Bangladesh.

Which of the statements given above is/are

correct?

(a) 1 and 3 only

(b) 2 only

(c) 2 and 3 only

(d) 1, 2 and 3

12. The Narmada river flows to the west, while

most other large peninsular rivers flow to the

east. Why? (2013)

1. It occupies a linear rift valley.

2. It flows between the Vindhyas and the Satpuras.

3. The land slopes to the west from Central India.

Select the correct answer using the codes

given below.

(a) 1 only

(b) 2 and 3

(c) 1 and 3

(d) None

13. Recently, linking of which of the following

rivers was undertaken? (2016)

(a) Cauvery and Tungabhadra

(b) Godavari and Krishna

(c) Mahanadi and Sone

(d) Narmada and Tapti
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14- gky gh esa fuEufyf•r jkT;ksa esa ls fdlus ,d
yEcs ukSlapkyu pkSuy }kjk leqæ ls tksM+s tkus
ds fy, ,d Ñf=ke varnZs'kh; canjxkg ds
fuekZ.k dh laHkkouk dk irk yxk;k gS\ (2016)
a(a) vka/z çns'k (b) NÙkhlx<+
(c) dukZVd (d) jktLFkku

15- fuEufyf•r esa ls dkSu&lh ,d Ñf=ke >hy gS \
(a) dksMkbZduky (rfey ukMq)
(b) dksys: (çns'k)
(c) uSuhrky (mÙkjk•aM
(d) js.kqdk (fgekpy çns'k)

16- Hkkjr ds lanHkZ esa MhMokuk] dqpkeu] ljxksy
vkSj •kVw fduds uke gSa\

(a) fgeun (b) xjku (eSaxzkso) {ks=k
(c) jkelj {ks=k (d) yo.k >hy

17- vfy;kj] blkiqj vkSj daXlkcrh tSls Kkr LFkkuksa
esa D;k lekurk gS\

(a) gky gh esa •ksts x, ;wjsfu;e fu{ksi
(b) m".kdfVca/h; o"kkZou
(c) Hkwfexr xqiQk ra=k
(d) ty HkaMkj

18- i`Foh xzg ij] vf/dka'k vyo.k&ty] ciQZ
N=kd vkSj fgeun ds :i esa jgrk gSA 'ks"k
vyo.k&ty dk lcls vf/d Hkkx(2013)

(a) ok;qe.My esa vkæZrk vkSj cknyksa ds :i esa ik;k tkrk gS
(b) vyo.k&ty >hyksa vkSj ufn;ksa esa ik;k tkrk gS
(c) Hkwfexr ty ds :i esa gS
(d) e`nk vkæZrk ds :i esa gS

19- i`Foh xzg ij ty ds lanHkZ esa] fuEufyf•r
dFkuksa ij fopkj dhft, %
1- ufn;ksa vkSj >hyksa esa ty dh ek=kk] Hkw&ty dh ek=kk

ls vf/d gSA
2- è#oh; fgePNn vkSj fgeunksa esa ty dh ek=kk]

Hkw&ty dh ek=kk ls vf/d gSA
mi;ZqÙkQ dFkuksa esa ls dkSu&lk@dkSu&ls lgh
gS@gSa\

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

14. Recently, which of the following States has
explored the possibility of constructing an
artificial inland port to be connected to sea by
a long navigational channel? (2016)

(a) Andhra Pradesh
(b) Chhattisgarh
(c)  Karnataka
(d) Rajasthan

15. Which one of the following is an artificial lake
? (2018)

(a) Kodaikanal (Tamil Nadu)
(b) Kolleru (Andhra Pradesh)
(c) N ainital (Uttarakhand)
(d) Renuka (Himachal Pradesh)

16. With reference to India, Didwana, Kuchaman,
Sargol and Khatu are the names of  (2021)

(a) glaciers 
(b) mangrove areas 
(c) Ramsar sites 
(d) saline lakes 

17. What is common to the places known as Aliyar,
Isapur and Kangsabati? (2019)

(a) Recently discovered uranium deposits
(b) Tropical rain forests
(c) Underground cave systems
(d) Water reservoirs

18. On the planet earth, most of the freshwater
exists as ice caps and glaciers. Out of the
remaining freshwater, the largest
proportion(2013)

(a) is found in atmosphere as moisture and clouds
(b) is found in freshwater lakes and rivers
(c) exists as groundwater
(d) exists as soil moisture

19. With reference to the water on the planet Earth,
consider the following statements : (2021)

1. The amount of water in the rivers and lakes is
more than the amount of groundwater.

2. The  amount  of  water  in  polar ice  caps  and
glaciers  is  more  than the  amount  of
groundwater.

Which of the statements given above is/are
correct? 

(a) 1 only  (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2 
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20- ;fn jk"Vªh; ty fe'ku lgh <+x ls vkSj iw.kZr%
ykxw fd;k tk, rks ns'k ij D;k çHkko iM+sxk\
(2012)
1- 'kgjh {ks=kksa dh ty vko'drkvksa dh vkaf'kd vkiwfrZ

vif'k"V ty ds iqupZØ.k ls gks ldsxhA

2- ,sls leqærVh; 'kgj&ftuds ikl ty ds vi;kZIr

oSdfYid L=kksr gS] dh ty vko';drkvksa dh vkiwfrZ

,slh leqfpr çkS|ksfxdh O;ogkj esa ykdj dh tk

ldsxh tks leqæh ty dks ç;ksx yk;d cuk ldsxhA

3- fgeky; ls mn~xfer lHkh ufn;k¡ çk;}hih; Hkkjr dh

ufn;ksa ls tksM+ nh tk,¡xhA

4- ljdkj Ñ"kdksa }kjk HkkSe ty fudkyus ds fy, cksfjax ls

•ksns x, dq,¡ vkSj mu ij yxkbZ xbZ eksVj vkSj iEi&lsV

ij ogu fd, O;; dh iwjh rjg çfriwfrZ djsxhA

fuEufyf•r dwVksa ds vk/kj ij lgh mÙkj
pqfu,%

(a) dsoy 1

(b) dsoy 1 vkSj 2

(c) dsoy 3 vkSj 4

(d)  1] 2] 3 vkSj 4

21- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

1- >sye unh] oqyj >hy ls gksdj tkrh gSA

2- Ñ".kk unh lh/s dksYys: >hy dk Hkj.k djrh gSA

3- xaMd unh ds foliZ.k ls dk¡oj >hy fufeZr gqbZ gSA

mi;ZqÙkQ esa ls fdrus dFku lgh gSa\

(a) dsoy ,d

(b) dsoy nks

(c) lHkh rhu

(d) dksbZ Hkh ugha

20. If National Water Mission is properly and

completely implemented, how will it impact the

country? (2012)

1. Part of the water needs of urban areas will be

met through recycling of wastewater.

2. The water requirements of coastal cities with

inadequate alternative sources of water will be

met by adopting appropriate technologies that

allow for the use of ocean water.

3. All the rivers of Himalayan origin will be linked

to the rivers of peninsular India,

4. The expenses incurred by farmers for digging

bore-wells and for installing motors and pump-

sets to draw groundwater will be completely

reimbursed by the Government.

Select the correct answer using the codes

given below :

(a) 1 only

(b) 1 and 2 only

(c) 3 and 4 only

(d) 1, 2, 3 and 4

21. Consider the following statements:  (2023)

1. Jhelum River passes through Wular Lake.

2. Krishna River directly feeds Kolleru Lake.

3. Meandering  of  Gandak  River    formed

Kanwar  Lake.

How many of the statements given above are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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22. Consider the following statements: (2023)

Statement-I:

According  to  the  United  Nations' World Water

Development Report, 2022', India extracts more

than  a  quarter  of  the  world's  groundwater

withdrawal each year.

Statement-II:

India needs to extract more than a quarter of the

world's  groundwater  each  year  to  satisfy  the

drinking water and sanitation needs of almost 18%

of world's population living in its territory.

Which one of the following is correct in respect

of the above statements?

(a) Both  Statement-I  and  Statement-II  are

correct  and  Statement-II  is  the  correct

explanation for Statement-I

(b) Both  Statement-I  and  Statement-II  are

correct and Statement-II  is not  the correct

explanation for Statement-I

(c) Statement-I  is  correct  but  Statement-II  is

incorrect

(d) Statement-I is incorrect but Statement-II is

correct

22- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

dFku & I %

la;qÙkQ jk"Vªla?k dh 'fo'o ty fodkl fjiksVZ] 2022 ds

vuqlkj] Hkkjr çfro"kZ fo'o ds HkkSe ty ds ,d&pkSFkkbZ

ls vf/d ty dk fu"d"kZ.k djrk gSA

dFku & II %

Hkkjr dks vius jkT;{ks=k esa jgus okyh fo'o dh yxHkx

18» tula[;k ds is; ty vkSj LoPNrk vko';drkvksa

dks iwjk djus ds fy, çfro"kZ fo'o ds HkkSe ty ds

,d&pkSFkkbZ ls vf/d ty dk fu"d"kZ.k djus dh t:jr

gSA

mi;ZqÙkQ dFkuksa ds ckjs esa] fuEufyf•r esa ls dkSu&lk ,d

lgh gS\

(a) dFku & I vkSj dFku & II nksuksa lgh gSa rFkk

dFku& II] dFku & I dh lgh O;k[;k gS

(b) dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II]

dFku&I dh lgh O;k[;k ugha gS

(c) dFku&I lgh gS fdUrq dFku&II xyr gS

(d) dFku&I xyr gS fdUrq dFku&II lgh gS
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  OCEANS

1. With reference to Ocean Mean Temperature

(OMT), which of the following statements is/

are correct? (2020)

1. OMT  is  measured  up  to  a  depth  of  26°C

isotherm  which  is  129 meters  in  the  south-

western Indian Ocean during January - March.

2. OMT collected during January - March can be

used in assessing whether the amount of rainfall

in monsoon will be less or more than a certain

long-term mean.

Select the correct answer using the code given

below :

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) neither 1 nor 2

2. Consider the following factors:  (2012)

1. Rotation of the Earth

2. Air pressure and wind

3. Density of ocean water

4. Revolution of the Earth

Which of the above factors influence the ocean

currents?

(a) 1 and 2 only

(b) 1, 2 and 3

(c) 1 and 4

(d) 2, 3 and 4

3. Tides occur in oceans and seas due to which of

the following? (2015)

1. Gravitational Force of the Sun

2. Gravitational Force of the Moon

3. Gravitational Force of the Earth

Select the correct answer using the code given

below

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2, and 3

4. What explains the eastward flow of the

equatorial countercurrent? (2015)

(a) The Earth’s rotation on its axis

(b) Convergence of the two equatorial currents

(c) Difference in salinity of water

(d) Occurrence of the belt of calm near equator

    OCEAN

1- egklkxj vkSlr rkieku ds lanHkZ esa] fuEufyf•r
esa ls dkSu&lk@ls dFku lgh gS@gSa \
1- OMT dks 26°C lerki js•k dh xgjkbZ rd ekik

tkrk gS tks tuojh & ekpZ esa fgUn egklkxj ds
nf{k.k&if'pe esa 129 ehVj ij gksrh gSA

2- OMT] tks tuojh&ekpZ esa ,df=kr fd;k tkrk gS mls
;g fu/kZfjr djus ds fy, ç;ksx fd;k tk ldrk gS
fd ekulwu esa o"kkZ dh ek=kk ,d fuf'pr nh?kZdkyhu
vkSlr o"kkZ ls de gksxh ;k vf/dA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, %

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2

2- fuEufyf•r dkjdks a ij fopkj dhft,%
(2012)
1- i`Foh dk vkorZu
2- ok;q nkc vkSj gok
3- egklkxjh; ty dk ?kuRo
4- i`Foh dk ifjØe.k
mi;ZqÙkQ esa ls dkSu&lk@ls dkjd egklkxjh;
èkkjkvksa dks çHkkfor djrs gS\

(a) dsoy 1 vkSj 2 (b) dsoy 1] 2 vkSj 4
(c) dsoy 1 vkSj 3 (d) 2 vkSj 4

3- egklkxjksa vkSj leqæks esa Tokj&HkkVk,¡ fdlds @
fduds dkj.k gksrh @ gksrs gS \ (2015)
1- lw;Z dk xq#Roh; cy
2- pUæek dk xq#Roh; cy
3- i`Foh dk vidsUæh; cy
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 (b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

4- fo"kqorh; çfr/kjkvks (bDosVksfj;y dkmaVj&djsaV)
ds iwokZfHkeq• çokg dh O;k[;k fdlls gksrh gS
\ (2015)

(a) i`Foh dk vius v{k ij ?kw.kZu
(b) nks fo"kqorh; /kjkvksa dk vfHklj.k (dUotZsl)
(c) ty dh yo.krk ds vUrj
(d) fo"kqor&o`Ùk ds ikl ç'kkUre.My es•yk (csYV vkWiQ

dke) dk gksuk
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5- lalkj ds lokZf/d egÙkiw.kZ eRL;u {ks=k mu {ks=ksa

esa ik, tkrs gSa] tgk¡

(a) dks".k rFkk 'khr ok;qe.Myh; /kjk,¡ feyrh gSa

(b) ufn;k¡ lkxjksa esa çpqj ek=k esa rktk ty çokfgr djrh gSa

(c) dks".k rFkk 'khr lkxjh; /kjk,¡ feyrh gSa

(d) egk}hih; 'ksYiQ rjafxr gS

6 Hkkjr esa ,d ,slk LFkku gS] tgk¡ ;fn vki

leqæ fdukjs •M+s gksdj leqæ dk voyksdu

djsa] rks vki ik,¡xs fd fnu esa nks ckj leqæh

ty rVh; js•k ls dqN fdyksehVj ihNs dh

vksj pyk tkrk gS vkSj fiQj rV ij okil

vkrk gS] vkSj tc ty ihNs gVk gksrk gS] rc

vki okLro esa leqæ ry ij py ldrs gSaA ;g

vuwBh ?kVuk dgk¡ ns•h tkrh gS\ (2017)

(a) Hkkouxj esa (b) HkheqfuiVue esa

(c) pkanhiqj esa (d) ukxifêðue esa

7- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

dFku & I %

xzh"e ½rq esa egk}hiksa vkSj egklkxjksa ds chp rkieku

foi;kZl 'khr ½rq dh vis{kk vf/d gksrk gSA

dFku& II %

ty dh fof'k"V Å"ek] Hkwi`"B dh fof'k"V Å"ek dh

vis{kk vf/d gksrh gSA

mi;ZqÙkQ dFkuksa ds ckjs esa] fuEufyf•r esa ls dkSu&lk

,d lgh gS\

(a) dFku & I vkSj dFku & II nksuksa lgh gSa rFkk

dFku&II] dFku & I dh lgh O;k[;k gS

(b) dFku & I vkSj dFku & II nksuksa lgh gSa rFkk

dFku& II] dFku & I dh lgh O;k[;k ugha

(c) dFku & I lgh gS fdUrq dFku & II xyr gS

(d) dFku& I xyr gS fdUrq dFku & II lgh gS

5. The most important fishing grounds of the world

are found in the regions where(2013)

(a) warm and cold atmospheric currents meet

(b) rivers drain out large amounts of fresh water

into the sea

(c) warm and cold oceanic currents meet

(d) continental shelf is undulating

6. At one of the places in India, if you stand on the

seashore and watch the sea, you will find that

the sea water recedes from the shore line a

few kilometres and comes back to the shore,

twice a day, and you can actually walk on the

sea floor when the water recedes. This unique

phenomenon is seen at(2017)

(a) Bhavnagar

(b) Bheemunipatnam

(c) Chandipur

(d) Nagapattinam

7. Consider the following statements: (2023)

Statement-I :

The temperature contrast between continents and

oceans is greater during summer than in winter.

Statement-II :

The specific heat of water  is more than  that of

land surface.

Which one of the following is correct in

respect of the above statements?

(a) Both  Statement-I  and  Statement-II  are

correct  and  Statement-II  is  the  correct

explanation for Statement-I

(b) Both  Statement-I  and  Statement-II  are

correct and Statement-II  is not  the correct

explanation for Statement-I

(c) Statement-I  is  correct  but  Statement-II  is

incorrect

(d) Statement-I is incorrect but Statement-II is

correct
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GEOMORPHOLOGY

1. The Brahmaputra, Irrawaddy and Mekong

rivers  originate in Tibet narrow and parallel 

mountain ranges in their upper reaches. Of

these rivers, Brahmaputra makes a “U” turn

in its course  to flow into India. This “U” turn

is due to ?  (2011)

(a) Uplift of folded Himalayan series.’

(b) Syntaxial   bending   of  geologically  young

Himalayas.

(c) Geo-tectonic disturbance in the tertiary folded

mountain chains.

(d) Both (a) and (b) above.

2. When you travel in Himalayas, you will see the

following :  (2012)

1. Deep gorges

2. U-turn river courses

3. Parallel mountain ranges

4. Steep gradients causing land-sliding

Which of the above can be said to be the

evidences for Himalayas being young fold

mountains?

(a) 1 and 2 only

(b) 1, 2 and 4 only

(c) 3 and 4 only

(d) 1, 2, 3 and 4

3. Which of the following phenomena might have

influenced the evolution of organisms? (2014)

1. Continental drift

2. Glacial cycles

Select the correct answer using the code given

below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

GEOMORPHOLOGY

1 frCcr esa mRifÙk ikus okyh czãiq=k] bZjkonh
vkSj eSdkax ufn;ka vius Åijh ikVksa esa ladh.kZ
vkSj lekarj iorZ Jsf.k;ksa ls gksdj çokfgr
gksrh gSaA bu  ufn;ksa esa czãiq=k Hkkjr esa çfo"V
gksus ls Bhd igys vius çokg esa ,d ;w&VuZ
ysrh gSA ;g ;w&VuZ D;ksa curk gS\  (2011)

(a) ofyr fgeky; Jsf.k;ksa ds mRFkkuds dkj.k

(b) HkwoSKkfudh; r#.k fgeky; ds v{kla?kh; ueu ds

dkj.k

(c) r`rh; dYih; ofyr ioZr&ekykvksa esa HkwfoorZuhd

fo{kksHk ds dkj.k

(d) bl lanHkZ esa mi;ZqÙkQ (a) vkSj (b) nksuksa dkj.k

rdZlaxr gSa

2- tc vki fgeky; dh ;k=kk djsaxs rks vki
fuEufyf•r dks ns•sax%(2012)
1- xgjs •îôs

2- U-?kqeko okys unh& ekxZ

3- lekukUrj ioZr Jsf.k;k¡

4- HkwL•yu ds fy, mÙkjnk;h rhoz <ky ço.krk

mi;ZqÙkQ esa ls dkSu& ls fgeky; ds r:.k
ofyr ioZr (uohu eksM+nkj ioZr) ds lk{;
dgs tk ldr gSa\

(a) dsoy 1]vkSj 2

(b) dsoy 1 2 vkSj] 4]

(c) dsoy 3] vkSj 4

(d) 1] 2 ] 3 vkSj 4

3- fuEufyf•r esa ls fdl ?kVuk@fdu ?kVukvksa us
thoksa ds fodkl dks çHkkfor fd;k gksxk\
(2014)
1- egk}hih; foLFkkiu

2- fgekuh pØ

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2
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4. Consider the following pairs : (2014)

            Hills                             Region

1. Cardamom Hills          Coromandel Coast

2. Kaimur Hills                Konkan Coast

3. Mahadeo Hills             Central India

4. Mikir Hills                   North-East India

Which of the above pairs are correctly

matched?

(a) 1 and 2

(b) 2 and 3

(c) 3 and 4

(d) 2 and 4

5. Consider the following statements: (2017)

1. In India,  the Himalayas are spread over five

States only.

2. Western Ghats are spread over five States only.

3. Pulicat Lake is spread over two States only.

Which of the statements given above is/are

correct?

(a) 1 and 2 only

(b) 3 only

(c) 2 and 3 only

(d) 1 and 3 only

6. Consider the following statements: (2018)

1. The Barren Island volcano is an active volcano

located in the Indian territory.

2. Barren Island lies about 140 km east of Great

Nicobar.

3. The last time the Barren Island volcano erupted

was in 1991 and it has remained inactive since

then.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3

(c) 3 only

(d) 1 and 3

7.The black cotton soil of India has been formed

due to the weathering of (2021)

(a) brown forest soil 

(b) fissure volcanic rock 

(c) granite and schist 

(d) shale and limestone 

4- fuEufyf•r ;qXeksa ij fopkj dhft,%(2014)
igkfM+;k¡ {ks=k

1- dkMZeWe igkfM?;k¡ % dksjkse.My rV
2- dSewj igkfM+;k¡ % dksad.k rV
3- egknso igkfM+;k¡ % eè; Hkkjr
4- fefdj igkfM+;k¡ % iwokZsÙkj Hkkjr
mi;ZqÙkQ ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr
gS@gSa\

(a) 1 vkSj 2
(b) 2 vkSj 3
(c) 3 vkSj 4
(d) 2 vkSj 4

5- fuEufyf•r dFkuksa ij fopkj dhft,%(2017)
1- Hkkjr esa] fgeky; dsoy ik¡p jkT;ksa esa iQSyk gqvk gSA
2- if'peh ?kkV dsoy ik¡p jkT;ksa esa iQSys gq, gSaA
3- iqfydV >hy dsoy nks jkT;ksa esa iQSyh gqbZ gSA
mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1 vkSj 2
(b) dsoy 3
(c) dsoy 2 vkSj 3
(d) dsoy 1 vkSj 3

6- fuEufyf•r dFkuksa ij fopkj dhft,(2018)
1- cSjsu }hi Tokykeq•h ,d lfØ; Tokykeq•h gS tks

Hkkjrh; jkT;{ks=k esa fLFkr gS A
2- cSjsu }hi] xzsV fudksckj ds yxHkx 140 fdeh iwoZ esa

fLFkr gSA A
3- fiNyh ckj cSjsu }hi Tokykeq•h esa 1991 esa mn~xkj

gqvk Fkk vkSj rc ls ;g fuf"Ø; cuk A gqvk gS A A
mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS gSa \

(a) dsoy 1
(b) 2 vkSj 3
(c) dsoy 3
(d) 1 vkSj 3

7- Hkkjr esa dkyh dikl ènk dh jpuk] fuEufyf•r
esa ls fdlds vi{k;.k ls gqbZ gS\

(a) Hkwjh ou e`nk
(b) fonjh (fiQ'kj) Tokykeq•h; pêðku
(c) xzsukbV vkSj f'kLV
(d) 'ksy vkSj pwuk&iRFkj
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8. Consider the following statements: (2018)

1. The Earth’s magnetic field has reversed every

few hundred thousand years.

2. When the Earth was created more than 4000

million years ago, there was 54% oxygen and

no carbon dioxide.

3. When living organisms originated, they modified

the early atmosphere of the Earth.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

9. Consider the following statements: (2023)

1. In  a  seismograph,  P  waves  are  recorded

earlier than S waves.

2. In P waves, the individual particles vibrate to

and fro in the direction of wave propagation

whereas in S waves, the particles vibrate up

and down at right angles to the direction of

wave propagation.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

8- fuEufyf•r dFkuksa ij fopkj dhft,(2018)
1- i`Foh dk pqEcdh; {ks=k gj dqN lkS gtkj lkyksa esa

mRØfer gqvk gS A

2- i`Foh tc 4000 fefy;u o"kks± ls Hkh vf/d igys

cuh] rks vkWDlhtu 54» Fkh vkSj dkcZu MkbvkWDlkbM

ugha Fkh A

3- tc thfor tho iSnk gq,] mUgksaus i`Foh ds vkjafHkd

ok;qe.My dks cny fn;k A

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS gSa \
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

9- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

1- HkwdEi&ys•h (lhLeksxzkiQ) esa s rjaxksa ls iwoZ  P

rjaxsa vfHkfyf•r dh tkrh gSaA

2- P rjaxksa esa] vyx&vyx d.k rjax çlkj dh fn'kk
esa vkxs&ihNs daiu djrs gSa] tcfd  s rjaxksa esa d.k
rjax çlkj dh fn'kk ds ledks.kh; Åij&uhps daiu
djrs gSaA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2
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SOIL

1. Salinization occurs when the irrigation water

accumulated in the soil evapo-rates, leaving

behind salts and minerals. What are the effects

of Salinization  on the irrigated land ?   (2011)

(a)    It greatly increases the crop production.

(b)    It makes some soils  impermeable .

(c)    It raises the water table.

(d)    It fills the air spaces in the soil with water.

2. Contour bunding is a method of soil conserva-

tion used in(2013)

(a) desert margins, liable to strong wind action

(b) low flat plains, close to stream courses, liable

to flooding

(c) scrublands, liable to spread of weed growth

(d) None of the above

3. Which of the following statements regarding

laterite soils of India are correct? (2013)

1. They are generally red in colour.

2. They are rich In nitrogen and potash.

3. They are well-developed in Rajasthan and UP.

4. Tapioca  and  cashew  nuts grow  well  on  these

soils.

Select the correct answer using the codes

given below.

(a) 1, 2 and 3

(b) 2, 3 and 4

(c) 1 and 4

(d) 2 and 3 only

4. With reference to agricultural soils, consider

the following statements : (2018)

1. A  high  content  of  organic  matter  in  soil

drastically reduces its water holding capacity.

2. Soil does not play any role in the sulphur cycle.

3. Irrigation over a period of time can contribute

to the salinization of some agricultural lands.

Which of the statements given above is/are

correct ?

(a) 1 and 2 only

(b) 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

SOIL

1- e`nk dk yo.khHkou e`nk esa ,df=kr flafpr ty
ds ok"ihÑr gksus ls ihNs NwVs ued vkSj •futksa
ls mRiUu gksrk gSA flafpar Hkwfe ij yo.khHkou
dk D;k çHkko iM+rk gS\   (2011)

(a) ;g iQlyksa ds mRiknu esa vR;f/d o`f¼ ykrk gS
(b) ;g dqN e`nkvksa dks vijkxE; cuk nsrk gS
(c) ;g HkkSe tyLrj dks Åij ys vkrk gS
(d) ;g e`nk ds ok;q vodk'kksa dks ty ls Hkj nsrk gS

2- Hkw&laj{k.k dh ifjjs•k ca/u fof/ dk ç;ksx
dgk¡ ds fy, gksrk gS\ (2013)

(a) çcy iou fØ;k ds v/hu e# mikUr
(b) unh çokgksa ds lfUudV dk] ck<+xzLr gksus okyk] fuEu

lery eSnku
(c) vir`.k ds c<+dj iQSyus dh lEHkkouk ls ;qÙkQ xqYe

Hkwfe
(d) mi;ZqÙkQ esa ls dksbZ ugha

3- Hkkjr dh ySVsjkbV fefêð;ksa ds ckjs esa fuEufyf•r
esa ls dkSu&ls dFku lgh gSa\ (2013)
1- os lk/kj.kr% yky jax dh gksrh gSaA
2- os ukbVªkstu vkSj iksVk'k ls le`¼ gksrh gSaA
3- mudk jktLFkku vkSj mÙkj çns'k esa vPNk fodkl gqvk

gSA
4- bu fefêð;ksa  esa VSfi;ksdk vkSj dktw dh vPNh mit

gksrh gSA
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) 1] 2 vkSj  3 (b) 2] 3 vkSj 4
(c) 1 vkSj 4 (d) dsoy 2 vkSj 3

4- Ñf"k e`nkvksa ds lUnHkZ esa] fuEufyf•r dFkuksa ij
fopkj dhft,A(2018)
1- e`nk esa dkcZfud inkFkZ dk mPp va'k bldh ty

èkkj.k {kerk dks çcy :i ls de djrk gS A
2- xa/d pØ esa e`nk dh dksbZ Hkwfedk ugha gksrhA
3- dqN le;kof/ rd flapkbZ dqN Ñf"k Hkwfe;ksa ds

yo.khHkou esa ;ksxnku dj ldrh gS A
mi;ZqÙkQ dFkuksa esa ls dkSu&lk ls lgh gS@ gSa \

(a) dsoy 1 vkSj 2 (b) dsoy 3
(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3
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AGRICULTURE

1. Among the following states, which one has the

most suitable climatic conditions for the

cultivation of a large variety of orchids with

minimum cost of production, and can develop

an export oriented industry in this field ?

(2011)

(a) Andhra Pradesh.

(b) Arunachal Pradesh.

(c) Madhya Pradesh.

(d) Uttar Pradesh.

2.    The lower Gangetic plain is cahrac-terised 

by humid climate with high temperature

throughout the year. Which one among the

following pairs of crops is most suitable for

this region ?   (2011)

(a)   Paddy and cotton.

(b)   Wheat and jute.

(c)   Paddy and jute.

(d)   Wheat and cotton.

3. Among the following, which one is the least

water-efficient crop?

(a) Sugarcane

(b) Sunflower

(c) Pearl millet

(d) Red gram 

4. A state in India has the following

characteristics :   (2011)

1.    Its northern part is arid and semi-arid.

2.    Its central part produces cotton.

3.   Cultivation of cash crops is predominant over

food crops.

Which one of the following states has all of the

above characteristics ?

(a)   Andhra  Pradesh.

(b)   Gujarat.

(c)   Karnataka.

(d)   Tamil Nadu.

AGRICULTURE

1- fuEufyf•r jkT;ksa esa ls fdl jkT; esa ,slh
lokZsi;qÙkQ~ tyok;q&fo"k;d fLFkfr;ka miyC/
gSa ftlesa U;wure ykxr ls vkfdZM dh fofo/
fdLeksa dh •srh gks ldrh gS] vkSj og bl {ks=k
esa fu;kZr&mUeq• m|ksx fodflr dj ldrk
gS\  (2011)

(a) vka/z çns'k
(b) v#.kkpy çns'k
(c) eè; çns'k
(d) mÙkj çns'k

2- xaxk ds fupys eSnkuksa dh ;g fo'ks"krk gS fd ;gka
o"kZ Hkj tyok;q mPp rkieku ds lkFk vkæZ
cuh jgrh gSA bl {ks=k ds fy, fuEufyf•r
iQlyksa ds ;qXeksa esa ls dkSu&lk ;qXe lcls
mi;ZqÙkQ gS\   (2011)

(a) /ku vkSj dikl
(b) xsgwa vkSj twV
(c) /ku vkSj twV
(d) xsgwa vkSj dikl

3- fuEufyf•r esa ls dkSu&lh iQly] U;wure
ty&n{k (yhLV okWVj&,fiQf'k,aV) iQly gS\

(a) xUuk
(b) lwjteq•h
(c) cktjk
(d) vjgj (jsM xzke)

4- fuEufyf•r fo'ks"krk,a Hkkjr ds ,d jkT; dh
fof'k"Vrk,a gSa   (2011)
1- mldk mÙkjh Hkkx 'kq"d ,oa v/Z'kq"d gSA
2- mlds eè; Hkkx esa dikl dk mRiknu gksrk gSA
3- ml jkT; esa •k| iQlyksa dh rqyuk esa udnh iQlyksa

dh •srh vf/d gksrh gSA
mi;ZqÙkQ lHkh fof'k"Vrk,a fuEufyf•r esa ls
fdl ,d jkT; esa ikbZ tkrh gSa\

(a) vka/z çns'k
(b) xqtjkr
(c) dukZVd
(d) rfey ukMw
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5. Consider the following crops of India :  (2012)

1. Groundnut

2. Sesamum

3. Pearl millet

Which of the above is/are predomi-nantly

rainfed crop/crops?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1, 2 and 3

6. Consider the following pairs : (2014)

    Region               Well-known for the

                     production of

1. Kinnaur         :    Areca nut

2. Mewat           :    Mango

3. Coromandel   :    Soya bean

Which of the above pairs is/are correctly

matched?

(a) 1 and 2 only

(b) 3 only

(c) 1, 2 and 3

(d) None

7. Consider the following crops (2013)

1.Cotton             

2. Groundnut     

3. Rice             

4.Wheat               

Which of these are Kharif crops?

(a) 1 and 4         

(b) 2 and 3 only

(c) 1, 2 and 3     

(d) 2, 3 and 4

8. Which of the following is the chief

characteristic of ‘mixed farming’?  (2012)

(a) Cultivation of both cash crops and food crops

(b) Cultivation of two or more crops in the same

field

(c)  Rearing of  animals  and  cultivation  of  crops

together

(d) None of the above

5- Hkkjr dh fuEufyf•r iQlyksa ij fopkj
dhft,%  (2012)
1- ew¡xiQyh
2- fry
3- cktjk
mi;ZqÙkQ esa ls dkSu&lk @ ls çeq•r;k o"kkZ&
vkèkkfjr iQly gS@ gSa\

(a) dsoy 1] vkSj 2
(b) dsoy 2] vkSj 3
(c) dsoy 3
(d) 1] 2 vkSj 3

6- fuEufyf•r ;qXeksa ij fopkj dhft,%(2014)
{ks=k fdlds mRiknu ds
fy, tkuk tkrk gS

1- fdUukSj % lqikjh
2- esokr % vke
3- dksjkse.My % lks;kchu
mi;ZqÙkQ esa ls dkSu&lk@ls ;qXe lgh lqesfyr
gS@gSa\

(a) 1 vkSj 2
(b) dsoy 3
(c) 1] 2 vkSj 3
(d) dksbZ ugha

7- fuEufyf•r iQlyksa ij fopkj dhft,%(2013)
1- dikl
2- ew¡xiQyh
3- /ku
4- xsgw¡
buesa ls dkSu&lh •jhiQ dh iQlysa gSa\

(a) 1 vkSj 4
(b) dsoy 2 vkSj 3
(c) 1] 2 vkSj 3
(d) 2] 3 vkSj 4

8- fuEufyf•r esa ls dkSu&lh fefJr •srh dh
çeq• fo'k"ksrk gS\ (2012)

(a) udnh vkSj •k| nksuksa lL;ksa dh lkFk&lkFk •srh
(b)  nks ;k nks ls vf/d lL;ksa dks ,d gh •sr esa mxkuk
(c)  i'kqikyu vkSk lL;&mRiknu dks ,d lkFk djuk
(d)  mi;ZqÙkQ es ls dksbZ ugh
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9. Consider the following crops of India :  (2012)

1. Cowpea
2. Green gram
3. Pigeon pea
Which of the above is/are used as pulse, fodder
and green manure?

(a) 1 and 2 only
(b) 2 only
(c) 1 and 3 only
(d) 1, 2 and 3

10. Which of the following is/are the advantage /
advantages of practising drip irrigation? (2016)

1. Reduction in weed
2. Reduction in soil salinity
3. Reduction in soil erosion
Select the correct answer using the code given
below.

(a) 1 and 2 only
(b) 3 only
(c) 1 and 3 only
(d) None of the above is an advantage of practising

drip irrigation

11. Which of the following practices can help in
water conservation in agriculture? (2017)

1. Reduced or zero tillage of the land
2. Applying gypsum before irrigating the field
3. Allowing crop residue to remain in the field
Select the correct answer using the code given
below :

(a) 1 and 2 only (b) 3 only
(c)  1 and 3 only (d) 1, 2 and 3

12. With reference to the circumstances in Indian
agriculture, the concept of “Conservation
Agriculture” assumes significance. Which of
the following fall under the Conservation
Agriculture? (2018)

1. Avoiding the monoculture practices
2. Adopting minimum tillage
3. Avoiding the cultivation of plantation crops
4. Using crop residues to cover soil surface
5. Adopting spatial and temporal crop sequencing/

crop rotations
Select the correct answer using the code given
below:

(a) 1, 3 and 4
(b) 2, 3, 4 and 5
(c) 2, 4 and 533
(d) 1, 2, 3 and 5

9- Hkkjr dh fuEufyf•r iQlyksa ij fopkj dhft,%
(2012)
1- yksfc;k
2- ew¡x
3- vjgj
mi;ZqÙkQ esa ls dkSu&lk@ls nygu] pkjk vkSj
gjh •kn ds :i esa ç;ksx gksrk gS@gksrs gSa\

(a) dsoy 1 vkSj 2 (b) dsoy 2
(c) dsoy 1 vkSj 3 (d) 1]2 vkSj 3

10- fuEufyf•r esa ls dkSu&lk@ls VªIl (fMªi)
flapkbZ i¼fr ds ç;ksx dk@ds ykHk gS@gSa\
(2016)
1- •j&irokj esa deh
2- e`nk yo.krk esa deh
3- e`nk vijnu esa deh
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
a(a) dsoy 1 vkSj 2
(b) dsoy 3
(c) dsoy 1 vkSj 3
(d) mi;ZqÙkQ esa ls dksbZ Hkh fMªi flapkbZ i¼fr dk ykHk ugha gSA

11- fuEufyf•r i¼fr;ksa esa ls dkSu&lh Ñf"k esa
ty laj{k.k esa lgk;rk dj ldrh gS@gSa\ (2017)
1- Hkwfe dh de ;k 'kwU; tqrkbZ
2- •sr esa flapkbZ ds iwoZ ftIle dk ç;ksx
3- iQly vo'ks"k dks •sr esa gh jgus nsuk
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,%

(a) dsoy 1 vkSj 2 (b) dsoy 3
(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

12- Hkkjrh; Ñf"k esa ifjfLFkfr;ksa ds lanHkZ esa] laj{k.k
df"kZ dh ladYiuk dk egRo c<+ tkrk gS A
fuEufyf•r esa ls dkSu&dkSu ls laj{k.k Ñf"k
ds varxZr vkrs gSa A (2018)
1- ,d/kU; Ñf"k i¼fr;ksa dk ifjgkj
2- U;wure tksr dks viukuk
3- ckxkuh iQlyksa dh •srh dk ifjgkj
4- e`nk /jkry dks <dus ds fy, iQly vof'k"V dk

mi;ksx
5- LFkkfud ,oa dkfyd iQly vuqØe.kiQly vkorZuksa

dks viukuk
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, %

(a) 1]3 vkSj 4 (b) 2] 3] 4 vkSj 5
(c) 1] 2] 4 vkSj 5 (d) 1] 2] 3 vkSj 5
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13. With reference to organic farming in India,

consider the following statements: (2018)

1. The  National  Programme  for  Organic

Production’  (NPOP)  is  operated  under  the

guidelines and directions of the Union Ministry

of Rural Development.

2. The Agricultural and Processed Food Products

Export  Development Authority’  (APEDA)

functions  as  the  Secretariat  for  the

implementation of NPOP.

3. Sikkim has become India’s first fully organic

State.

Which of the statements given above is/are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1, 2 and 3

14. What is/are the advantage/advantages of zero

tillage in agriculture ? (2020)

1. Sowing of wheat is possible without burning the

residue of previous crop.

2. Without the need for nursery of rice saplings,

direct planting of paddy seeds in the wet soil is

possible.

3. Carbon sequestration in the soil is possible.

Select the correct answer using the code given

below: 

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1, 2 and 3 

15. In the context of India, which of the following

is/are considered to be practice(s) of eco-

friendly agriculture ? (2020)

1. Crop diversification 

2. Legume intensification

3. Tensiometer use

4.  Vertical farming

Select the correct answer using the code given

below :

(a) 1, 2 and 3 only

(b) 3 only

(c) 4 only
(d) 1, 2, 3 and 4

13- Hkkjr esa tSfod Ñf"k ds lUnHkZ esa] fuEufyf•r
ddFkuksa ij fopkj dhft, \ (2018)
1- tSfod mRiknu ds fy, jk"Vªh; dk;ZØe (,-ih-vks-ih-)

dsUæh; xzkeh.k fodkl ea=kky; ds ekxZn'kZu ,oa funs'k
ds v/hu dk;Z djrk

2- ,uih-vks-ih- ds fØ;kUo;u ds fy, Ñf"k vkSj çlaLÑr
•k| mRikn fu;kZr fodkl çkf/dj.k (APEDA)

lfpoky; ds :i esa dk;Z djrk
3- flfDde Hkkjr dk igyk iwjh rjg ls tSfod jkT; cu

x;k gS A
mi;ZqÙkQ dFkuksa esa ls dkSu&lk ls lgh gS gSa \

(a) dsoy 1 vkSj 2
(b) dsoy 2 vkSj 3
(c) dsoy 3
(d) 1] 2 vkSj 3

14- Ñf"k esa 'kwU;&tqrkbZ (zero&tillage) dk@ds D;k
ykHk
1- fiNyh iQly ds vo'ks"kksa dks tyk, fcuk xsgw¡ dh

cqvkbZ laHko gSA
2- pkoy dh ubZ ikS/ dh ulZjh cuk, fcuk] /ku  ds

chtksa dk ue e`nk esa lh/s jksi.k laHko gSA
3- e`nk esa dkcZu i`FkDdj.k laHko gSA
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, %

(a) dsoy 1 vkSj 2
(b) dsoy 2 vkSj 3
(c) dsoy 3
(d) 1] 2 vkSj 3

15- Hkkjr ds lanHkZ esa] fuEufyf•r esa ls fdl@fdu
i¼fr@;ksa dks ikfjra=k&vuqdwyh Ñf"k ekuk tkrk
gS \
1- iQly fofo/:i.k
2- f'kac vkf/D;
3- Vsafl;ksehVj dk ç;ksx
4- ÅèokZ/j Ñf"k
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, %

(a) dsoy 1] 2 vkSj 3
(b) dsoy 3
(c) dsoy 4
(d) 1]2]3 vkSj 4
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16. How is permaculture farming different from
conventional chemical farming?

1. Permaculture farming discourages monocultural
practices but in conventional chemical farming,
monoculture practices are pre dominant.

2. Conventional  chemical  farming  can  cause
increase in soil salinity but the occurrence of
such  phenomenon  is  not  observed  in
permaculture farming.

3. Conventional chemical farming is easily possible
in semi-arid regions but permaculture farming
is not so easily possible in such regions.

4. Practice  of  mulching  is  very  important  in
permaculture  farming but  not  necessarily  so
in conventional chemical farming.

Select the correct answer using the code given below.

(a) 1 and 3
(b) 1, 2 and 4
(c) 4 only
(d) 2 and 3 

17. With reference to the cultivation of Kharif
crops in India in the last five years, consider
the following statements: (2019)

1. Area under rice cultivation is the highest.
2. Area under the cultivation of jowar is more than

that of oilseeds.
3. Area of cotton cultivation is more than that of

sugarcane.
4. Area under sugarcane cultivation has steadily

decreased.
Which of the statements given above are
correct?

(a) 1 and 3 only (b) 2, 3 and 4 only
(c) 2 and 4 only (d) 1, 2, 3 and 4

18. With reference to pulse production in
India, consider the following statements :

1. Black gram can be cultivated as both kharif and
rabi crop.

2. Green-gram alone accounts for nearly half of
pulse production.

3. In the last three decades, while the production
of kharif pulses has increased, the production
of rabi pulses has decreased.

Which of the statements given above is/are
correct?

(a) l only
(b) 2 and 3 only
(c) 2 only
(d) 1, 2 and 3 

16- LFkk;h Ñf"k (iekZdYpj)] ikjaifjd jklk;fud
Ñf"k ls fdl rjg fHkUu gS\
1- LFkk;h Ñf"k ,d/kU; Ñf"k i¼fr dks grksRlkfgr

djrk gS] fdUrq ikjaifjd jklk;fud Ñf"k esa ,d/kU;
Ñf"k i¼fr dh ç/kurk gSA

2- ikjaifjd jklk;fud Ñf"k ds dkj.k e`nk dh yo.krk
esa o`f¼ gks ldrh gS] fdUrq bl rjg dh ifj?kVuk
LFkk;h Ñf"k esa n`f"Vxkspj ugha gksrh

3- ikjaifjd jklk;fud Ñf"k v/Z'kq"d {ks=kksa esa vklkuh ls
laHko gS] fdUrq ,sls {ks=kksa esa LFkk;h Ñf"k bruh vklkuh
ls laHko ugha gSA

4- eYp cukus (efYpax) dh çFkk LFkk;h Ñf"k esa dkiQh
egÙoiw.kZ gS] fdUrq ikjaifjd jklk;fud Ñf"k esa ,slh
çFkk vko';d ugha gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) 1 vkSj 3 (b) 1] 2 vkSj 4
(c) dsoy 4 (d) 2 vkSj 3

17- Hkkjr esa fiNys ik¡p o"kks± esa •jhiQ dh iQlyksa
dh •srh ds lanHkZ esa] fuEufyf•r dFkuksa ij
fopkj dhft, % (2019)
1- /ku dh •srh ds varxZr {ks=k vf/dre gSA
2- Tokj dh •srh ds varxZr {ks=k] fryguksa dh •srh ds

varxZr {ks=k dh rqyuk esa vf/d gSA
3- dikl dh •srh dk {ks=k] xUus dh •srh ds {ks=k gS dh

rqyuk esa vf/d gSA
4- xUus dh •srh ds varxZr {ks=k fujarj ?kVk gSA
mi;ZqÙkQ esa ls dkSu&ls dFku lgh gSa\

(a) dsoy 1 vkSj 3 (b) dsoy 2] 3 vkSj 4
(c) dsoy 2 vkSj 4 (d) 1] 2] 3 vkSj 4

18- Hkkjr esa nkyks a ds mRiknu ds lanHkZ es a]
fuEufyf•r dFkuksa ij fopkj dhft, %
1- mM+n dh •srh •jhiQ vkSj jch nksuksa iQlyksa esa dh tk

ldrh gSA
2- dqy nky mRiknu dk yxHkx vk/k Hkkx dsoy ewax

dk gksrk gSA
3- fiNys rhu n'kdksa esa] tgk¡ •jhiQ nkyksa dk mRiknu

c<+k gS] ogha jch nkyksa dk mRiknu ?kVk
mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1
(b) dsoy 2 vkSj 3
(c) dsoy 2
(d) 1] 2 vkSj 3
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19- Hkkjr esa dkckZsÝ;wjsu] esfFky iSjkfFk;kWu] iQksjsV
vkSj Vªkb,stksiQkWl ds bLrseky dks vk'kadk ls
ns•k tkrk gSA ;s jlk;u fdl :i esa bLrseky
fd, tkrs gSa\

(a) Ñf"k esa ihM+duk'kh

(b) lalkf/r •k|ksa esa ifjj{kd

(c) iQy&iDdu dkjd

(d) çlk/u lkexzh esa ueh cuk, j•us okys dkjd

20- Ñf"k esa iQVhZxs'ku ds D;k ykHk gSa \
1- flapkbZ ty dh {kkjh;rk dk fu;a=k.k laHko gS A

2- ^jkWd iQkWLiQsV vkSj lHkh vU; iQkWLiQsfVd moZjdksa dk

liQyrk ds lkFk vuqç;ksx laHko gSA

3- ikS/ksa ds fy, iks"kd c<+h gqbZ ek=kk esa lqyHk fd, tk

ldrs gSa A

4- jklk;fud iks"kdksa ds fu{kkyu esa deh laHko gS A

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, %

(a) dsoy 1] 2 vkSj 3

(b) dsoy 1] 2 vkSj 4

(c) dsoy 1]3 vkSj 4

(d) dsoy 2] 3 vkSj 4

21- Hkkjr esa jklk;fud moZjdks a ds lanHkZ esa]
fuEufyf•r dFkuksa ij fopkj dhft, %
1- orZeku esa jklk;fud moZjdksa dk •qnjk ewY;

cktkj&lapkfyr gS vkSj ;g ljdkj }kjk fu;af=kr ugha

gSA

2- veksfu;k tks ;wfj;k cukus esa dke vkrk gS] og

çkÑfrd xSl ls mRiUu gksrk gS A

3- lYiQj] tks iQkWLiQksfjd vEy moZjd ds fy, dPpk

eky gS] og rsy 'kks/u dkj•kuksa dk miksRikn gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 2

(d) 1] 2 vkSj 3

19. In India, the use of carbofuran, methyl

parathion, phorate and triazophos is viewed

with apprehension. These chemicals are used

as (2019)

(a) pesticides in agriculture

(b) preservatives in processed foods

(c) fruit-ripening agents

(d) moisturising agents in cosmetics

20. What are the advantages of fertigation in

agriculture ? (2020)

1. Controlling the alkalinity of irrigation water is

possible. 

2. Efficient application of Rock Phosphate and all

other phosphatic fertilizers is possible. 

3. Increased availability of nutrients to plants is

possible. 

4. Reduction in the leaching of chemical nutrients

is possible.

Select the correct answer using the code given

below : 

(a) 1, 2 and 3 only 

(b) 1, 2 and 4 only 

(c) 1, 3 and 4 only 

(d) 2, 3 and 4 only 

21. With reference to chemical fertilizers in India,

consider the following statements : (2020)

1. At present, the retail price of chemical fertilizers

is market-driven and not administered by the

Government.

2. Ammonia, which is an input of urea, is produced

from natural gas.

3. Sulphur, which is a raw material for phosphoric

acid fertilizer, is a by-product of oil refineries.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 2 only

(d) 1, 2 and 3 
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22- fuEu dFkuksa ij fopkj djsa&
1- Rofjr flapkbZ ykHk dk;ZØe 1996 &97 esa

xjhc fdlkuksa dks ½.k lgk;rk miyC/ djus
ds fy, vkjEHk fd;k x;k FkkA

2- dekaM {ks=k fodkl dk;ZØe 1974 & 75 esa ty &
mi;ksx n{krk ds fodkl ds fy, 'kq: fd;k x;k FkkA

mi;ZqÙkQ dFkuksa esa ls dkSu & lk @ls lgh gS@ gSaA
% (2015)

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

23- fuEufyf•r esa ls dkSu&lk ,d] cht xzke
ladYiuk (lhM foyst dkWUlsIV) ds çeq•
mís'; dk lokZsÙke o.kZu djrk gS \ (2015)

(a) fdlkuksa dks vius gh •sr ds chtksa dk mi;ksx djus
ds fy, çksRlkfgr djuk vkSj mUgsa nwljksa ls cht
•jhnus ds fy, grksRlkfgr djuk

(b) fdlkuksa dks xq.krk;qÙkQ cht mRiknu dk çf'k{k.k nsus esa
yxkuk vkSj muds }kjk nwljksa dks leqfpr le; ij rFkk
ogu djus ;ksX; ykxr esa xq.krk;qÙkQ cht miyC/ djkuk

(c) dqN xzkeksa dks vuU; :i ls çekf.kr chtksa ds mRiknu
ys fy, gh mfí"V (bZ;jekdZ) djuk

(d) xzkeksa esa m|fe;ks dks vfHkKkr (vkbMsaVhiQkb) djuk
rFkk mUgsa cht dEifu;ksa dh LFkkiuk djus ds fy,
çkS|ksfxdh vkSj foÙk miyC/ djkuk

24- ¶;g iQly miks".k çÑfr dh gS A mlds fy, dBksj
ikyk gkfudkjd gS A fodkl ds fy, mls de&ls&de
210 ikyk&jfgr fnolksa vkSj 50& 100 lsaVhehVj o"kkZ
dh vko';drk iM+rh gS A gYdh lqviokfgr ènk
ftlesa ueh /kj.k djus dh {kerk gS mldh •srh ds
fy, vkn'kZ :i ls vuqdwy gSA" ;g iQly
fuEufyf•r esa ls dkSu&lh gS \

(a) dikl (b) twV
(c) xUuk (d) pk;

25- fuEufyf•r jkT;ksa ij fopkj dhft, %

1- vka/z çns'k 2- dsjy

3- fgekpy çns'k 4- f=kiqjk

mi;ZqÙkQ esa ls fdrus vke rkSj ij pk;&mRiknd jkT;
ds :i esa tkus tkrs gSa \

(a) dsoy ,d jkT; (b) dsoy nks jkT;

(c) dsoy rhu jkT; (d) lHkh pkjksa jkT;

22. Consider the following statements: (2015)

1. The Accelerated Irrigation Benefits Programme

was launched during 1996-97 to provide loan

assistance to poor fanners.

2. The Command Area Development Programme

was launched in 1974-75 for the development

of water-use efficiency.

Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

23. Which one of the following best describes the

main objective of ‘Seed Village Concept? (2015)

(a) Encouraging the farmers to use their own farm

seeds and discouraging them to buy the seeds

from others

(b) Involving the farmers for training in quality seed

production and thereby to make available quality

seeds  to  others  at  appropriate  time  and

affordable cost

(c) Earmarking some villages exclusively for the

production of certified seeds

(d) Identifying  the  entrepreneurs  in village  and

providing them technology and finance to set

up seed companies

24. The crop is subtropical in nature. A hard frost

is injurious to it. It requires at least 210 frost-

free days and 50 to 100 centimeters of rainfall

for its growth. A light well-drained soil capable

of retaining moisture is ideally suited for the

cultivation of the crop.” Which one of the

following is that crop ? (2020)

(a) Cotton (b) Jute 

(c) Sugarcane (d) Tea 

25. Consider the following States : (2022)

1. Andhra Pradesh 2. Kerala

3. Himachal Pradesh 4. Tripura

How many of the above are generally known

as tea-producing States ?

(a) Only one State (b) Only two States

(c) Only three States (d) All four States
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26- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

1- phu dh rqyuk esa Hkkjr ds ikl vf/d Ñf"k;ksX;

{ks=k gSA

2- phu dh rqyuk esa Hkkjr esa flafpr {ks=k dk vuqikr

vf/d gSA

3- phu dh rqyuk esa Hkkjr dh Ñf"k esa çfr gsDVs;j

vkSlr mRikndrk vf/d gSA

mi;ZqÙkQ esa ls fdrus dFku lgh gSa\

(a) dsoy ,d (b) dsoy nks

(c) lHkh rhu (d) dksbZ Hkh ugha

26. Consider the following statements: (2023)

1. India has more arable area than China.

2. The proportion of irrigated area is more in

India as compared to China.

3. The average productivity per hectare in Indian

agriculture is higher than that in China.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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SOLAR SYSTEM

1.    What is difference between asteroids and

comets ?  (2011)

1.  Asteroids are  small  rocky plane-toids, while

comets  are  formed  of  frozen  gases  held

together by rocky and metallic material.

2.  Asteroids are found mostly between the orbits

of Jupiter and mars, while comets are found

mostly between Venus and mercury.

3.  Comets show a perceptible  glowing  tail, while

asteroids do not.

Which of the statements given above is/are

correct ?

(a)   1 and 2 only.

(b)   1 and 3 only.

(c)   3 only.

(d)   1,2 and 3.

 

2. A person stood alone in a desert on a dark

night and wanted to reach his village which

was situated 5 km east of the point where he

was standing. He had no instruments to find

the direction but he located the polestar. The

most convenient way now to reach his village

is to walk in the  (2012)

(a) direction facing the polestar

(b) direction opposite to the polestar

(c) direction keeping the polestar to his left

(d) direction keeping the polestar to his right

3. Variations in the length of daytime and nighttime

from season to season are due to (2013)

(a) the earth’s rotation on its axis

(b) the  earth’s  revolution  round  the  sun  in  an

elliptical manner

(c) latitudinal position of the place

(d) revolution of the earth on a tilted axis

SOLAR SYSTEM

1- {kqæxzgksa rFkk /wedsrq ds chp D;k varj gksrk

gS\   (2011)

1- {kqæxzg y?kq pêðkuh xzkfgdk,a (IysusVkW;M) gSa] tcfd

/wedsrq fge'khfrr xSlksa ls fufeZr gksrs gSa ftUgsa pêðkuh

vkSj /krq inkFkZ vkil esa cka/s j•rs gSaA

2- {kqæxzg vf/dka'kr% ògLifr vkSj eaxy ds ifjØekiFkksa

ds chp ik, tkrs gSa] tcfd /wedsrq vf/dka'kr% 'kqØ

vkSj cq/ ds chp ik, tkrs gSaA

3- /wedsrq xkspj nhfIreku iqPN n'kkZrs gSa] tcfd {kqæxzg

;g ugha n'kkZrsA

mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\

(a) dsoy 1 vkSj 2

(b) dsoy 1 vkSj 3

(c) dsoy 3

(d) 1] 2 vkSj 3

2- ,d O;fÙkQ dkyh v¡/sjh  jkr esa jsfxLrku esa

vdsyk •M+k FkkA mls vius xk¡o tkuk Fkk tks

ogk¡ ls iwoZ es ik¡pa fdyksehVj dh nwjh ij FkkA

mlds ikl fn'kk&Kku ds fy, dksb ;a=kk ugh

Fkk ij mlus /zorkjs dks igpku fy;kA vc

mldks xk¡o igq¡pus ds fy, fuEufyf•r esa ls

dkSu&lk ekxZ viukuk vf/dre lqfo/ktud

gksxk\  (2012)

(a) /qzorkjs dh fn'kk esa pys

(b) è#orkjs ls foijhr fn'kk esa pys

(c) è#orkjs dks viuh ckbZ vksj j•dj pys

(d)  è#orkjs dks viuh nkfguh vksj j•dj pys

3- vyx&vyx ½rqvksa esa fnu&le; vkSj jkf=k&le; ds

foLrkj esa fofHkUurk fdl dkj.k ls gksrh gS\ (2013)

(a) i`Foh dk vius v{k ij ?kw.kZu

(b) i`Foh dk] lw;Z ds pkjksa vkSj nh?kZo`Ùkh; jhfr ls

ifjØe.k

(c) LFkku dh v{kka'kh; fLFkfr

(d) i`Foh dk ur v{k ij ifjØe.k
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4- mÙkjh xksykbZ esa mÙkjh xksyk/Z esa] o"kZ dk lcls yack
fnu vke rkSj ij dc gksrk gS \

(a) twu eghus dk igyk i•okM+k

(b) twu eghus dk nwljk i•okM+k

(c) tqykbZ eghus dk igyk i•okM+k

(d) tqykbZ eghus dk nwljk i•okM+k

5- ;fn dksbZ eq[; lkSj rwiQku (lkSj çToky) i`Foh ij
igq¡prk gS] rks i`Foh ij fuEufyf•r esa dkSu&ls laHko
çHkko gksaxs \

1- GPS vkSj fnDlapkyu (uSfoxs'ku) ç.kkfy;k¡ foiQy
gks ldrh gSaA

2- fo"kqorh; {ks=kksa esa lqukfe;k¡ vk ldrh gSa A

3- fctyh fxzM {kfrxzLr gks ldrs gSa A

4- i`Foh ds vf/dka'k fgLls - ij rhoz è#oh; T;ksfr;k¡
?kfVr gks ldrh gSa A

5- xzg ds vf/dka'k fgLls ij nkokfXu;k¡ ?kfVr gks ldrh gSaA

6- mixzgksa dh d{kk,¡ fo{kqC/ gks ldrh gSa A

7- è#oh; {ks=kksa ds Åij ls mM+rs gq, ok;q;ku dk
y?kqrjax jsfM;ks lapkj ckf/r gks ldrk gS A

uhps fn, dwV dk ç;ksx dj lgh mÙkj pqfu, %

(a) dsoy 1] 2] 4 vkSj 5

(b) dsoy 2] 3] 5] 6 vkSj 7

(c) dsoy 1] 3] 4] 6 vkSj 7

(d) 1] 2] 3] 4] 5] 6 vkSj 7

6- twu dh 21oha rkjh• dks lw;Z (2019)
(a) mÙkjè#oh; o`Ùk ij f{kfrt ds uhps ugha Mwcrk gS
(b) nf{k.kè#oh; o`Ùk ij f{kfrt ds uhps ugha Mwcrk gS
(c) eè;kÉ esa Hkweè;js•k ij ÅèokZ/j :i ls O;kseLFk

pedrk gSA
(d) edj&js•k ij ÅèokZ/j :i ls O;kseLFk pedrk gS

4. In the northern hemisphere, the longest day

of the year normally occurs in the : (2022)

(a) First half of the month of June

(b) Second half of the month of June

(c) First half of the month of July

(d) Second half of the month of July

5. If a major solar storm (solar-flare) reaches

the Earth, which of the following are the

possible effects on the Earth? (2022)

1. GPS and navigation systems could fail.

2. Tsunamis could occur at equatorial regions

3. Power grids could be damaged.

4. Intense auroras could occur over much of the

Earth.

5. Forest fires could take place over much of the

planet.

6. Orbits of the satellites disturbed.

7. Shortwave radio communication of the aircraft

flying over polar regions could be interrupted.

Select the correct answer using the code

given below:

(a) 1, 2, 4 and 5 only

(b) 2, 3, 5, 6 and 7 only

(c) 1,3, 4, 6 and 7 only

(d) 1, 2, 3, 4, 5, 6 and 7

6. On 21st June, the Sun (2019)

(a)  does not  set  below  the horizon at  the Arctic

Circle

(b) does not set below the horizon at Antarctic Circle

(c) shines vertically overhead at noon on the Equator

(d)  shines  vertically  overhead  at  the Tropic  of

Capricorn
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7- fuEufyf•r ;qXeksa ij fopkj dhft, % (2023)

varfj{k esa fiaM o.kZu

1- lsiQhM varfj{k esa /wy vkSj xSl
ds fo'kky ckny

2- uhgkfjdk,¡ rkjs tks vkorhZ :i ls
tyrs&cq>rs gSa

3- iYlj U;wVªkWu rkjs tks rc curs
gSa tc fo'kky rkjksa dk
bZa/u •Re gks tkrk gS
vkSj  mudk fuikr gks
tkrk gS

mi;ZqÙkQ ;qXeksa esa ls fdrus lgh lqesfyr gSa\

(a) dsoy ,d

(b) dsoy nks

(c) lHkh rhu

(d) dksbZ Hkh ugha

7. Consider the following pairs:(2023)

Objects in Description

space

1. Cepheids Giant clouds of dust and gas

in space

2. Nebulae Stars which brighten and

dim periodically

3. Pulsars Neutron stars that are formed

when massive stars run out of

fuel and collapse

How  many  of  the  above  pairs  are  correctly

matched?

(a) Only one

(b) Only two

(c) All three

(d) None
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MAPPING

1- fuEufyf•r esa ls fdl ds }kjk Hkkjr vkSj iwohZ
,f'k;k ds chp ukSlapkyu le; (usfoxs'ku
Vkbe) vkSj nwjh vR;f/d de fd, tk ldrs
gSa\  (2011)
1- eysf'k;k vkSj baMksusf'k;k ds chp eyDdk tyMeZ:eè;

dks vf/d xgjk cuk djA
2- fl;ke •kM+h vkSj vaMeku lkxj ds chp Øk Hkwlaf/

tyMe:eè; ds ikj ubZ ugj •ksy djA
mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\

(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2

2 fuEufyf•r esa ls dkSu&lk HkkSxksfyd :i ls
xzsV fudksckj ds lcls fudV gS\ (2017)

(a) lqek=k
(b) cksfuZ;ks
(c) tkok
(d) Jh yadk

3- fuEufyf•r }hiksa ds ;qXeksa esa ls dkSu&lk ,d
^n'k va'k tyekxZ }kjk vkil esa i`Fkd~ fd;k
tkrk gS\ (2014)

(a) vUneku ,oa fudksckj
(b) fudksckj ,oa lqek=k
(c) ekynho ,oa y{k}hi
(d) lqek=k ,oa tkok

4- nf{k.k&iwohZ ,f'k;k esa nf{k.k ls mÙkj dh vksj
tkus  ij uhps fn, x, uxjksa dk lgh fLFkfrØe
D;k gS\ (2014)
1- cSadkWd 2- guksb
3- tdkrkZ 4- flaxkiqj
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) 4&2&1&3 (b) 3&2&4&1
(c) 3&4&1&2 (d) 4&3&2&1

5- VdhZ fduds eè; fLFkr gS\ (2014)
(a) dkyk lkxj vkSj dSfLi;u lkxj
(b) dkyk lkxj vkSj Hkweè; lkxj
(c) Lost dh •kM+h vkSj Hkweè; lkxj
(d) vdkck dh •kM+h vkSj e`r lkxj

MAPPING
1.   Between India and east Asia, the navi-gation-

time  and distance can be greatly reduced by
which of the following ?  (2011)

1.  Deepening  the  Malacca  straits  between
Malaysia and Indonesia.

2.   Opening a new canal across  the kra  isthmus
between the gulf of Siam and Andaman sea.

Which of the statements given above is/are
correct ?

(a) 1 only.

(b)  2 only.
(c)  Both 1 and 2.
(d) Neither 1 nor 2.

2. Which of the following is geographically closest

to Great Nicobar ? (2017)

(a) Sumatra
(b) Borneo

(c)  Java
(d) Sri Lanka

3. Which one of the following pairs of islands is
separated from each other by the ‘Ten Degree

Channel’? (2014)

(a) Andaman and Nicobar
(b) Nicobar and Sumatra

(c) Maldives and Lakshadweep
(d) Sumatra and Java

4. What is the correct sequence of occurrence of
the following cities in South-East Asia as one

proceeds from south to north? (2014)

1. Bangkok
2. Hanoi

3. Jakarta
4. Singapore
Select the correct answer using the code given
below.

(a) 4-2-1-3
(b) 3-2-4-1
(c) 3-4-1-2
(d) 4-3-2-1

5. Turkey is located between(2014)

(a) Black Sea and Caspian Sea

(b) Black Sea and Mediterranean Sea
(c) Gulf of Suez and Mediterranean Sea
(d) Gulf of Aqaba and Dead Sea
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6. Mediterranean Sea is a border of which of the
following countries? (2017)
1. Jordan
2. Iraq
3. Lebanon
4. Syria
Select the correct answer using the code given
below:
(a) 1, 2 and 3 only
(b) 2 and 3 only
(c) 3 and 4 only
(d) 1, 3 and 4 only

7. Consider the following pairs:
SeaBordering country
1. Adriatic Sea Albania
2. Black Sea Croatia
3. Gaspian Sea Kazakhstan
4. Mediterranean Sea Morocco
5. Red Sea Syria
Which of the pair given above are correctly
matched? (2019)
(a) 1, 2 and 4 only
(b) 1, 3 and 4 only
(c) 2 and 5 only
(d) 1, 2, 3, 4 and 5

8. Consider the following countries : (2022)

1. Azerbaijan 2. Kyrgyzstan

3. Tajikistan 4. Turkmenistan

5. Uzbekistan

Which of the above have borders with
Afghanistan ?

(a) 1, 2 and 5 only (b) 1, 2, 3 and 4 only

(c) 3, 4 and 5 only (d) 1,2, 3, 4 and 5

9.  Which of the following pairs of States of India
indicates the eastern most and Western most
State? (2015)
(a) Assam and Rajasthan
(b) Arunachal Pradesh and Rajasthan
(c) Assam and Gujarat
(d) Arunachal Pradesh and Gujarat

10. If you travel by road from Kohima to Kottayam,
what is the minimum number of States within
India through which you can travel, including
the origin and the destination? (2017)
(a) 6 (b) 7
(c) 8 (d) 9

11. Among the following cities, which one lies on
a longitude closest to that of Delhi? (2018)
(a) Bengaluru (b) Hyderabad
(c) Nagpur (d) Pune

6- Hkweè;lkxj] fuEufyf•r esa ls fdu ns'kksa dh
lhek gS\ (2017)
1- tkWMZu 2- bjkd
3- yscuku 4- lhfj;k
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,%

(a) dsoy 1] 2 vkSj 3 (b) dsoy 2 vkSj 3
(c) dsoy 3 vkSj 4 (d) dsoy 1] 3 vkSj 4

7-  fuEufyf•r ;qXeksa ij fopkj dhft, %
lkxj % lkxj ls yxk

gqvk ns'k
1- ,sfMª,sfVd lkxj % vYckfu;k
2- dkyk lkxj % Øks,f'k;k
3- dSfLi;u lkxj % dtkfdLrku
4- Hkweè; lkxj % eksjDdks
5- yky lkxj % lhfj;k
mi;ZqÙkQ esa ls dkSu&ls ;qXe lgh lqesfyr gSa\

(a) dsoy 1] 2 vkSj 4 (b) dsoy 1] 3 vkSj 4
(c) dsoy 2 vkSj 5 (d) 1] 2] 3] 4 vkSj 5

8- fuEufyf•r ns'kksa ij fopkj dhft, %

1- vtjcStku 2- fdjfxtLrku

3- rkftfdLrku 4- rqdZesfuLrku

5- mTcsfdLrku

mi;ZqÙkQ esa ls fdudh lhek,¡ viQxkfuLrku ds lkFk
yxrh gSa \

(a) dsoy 1] 2 vkSj 5 (b) dsoy 1] 2] 3 vkSj 4

(c) dsoy 3] 4 vkSj 5 (d) 1] 2] 3] 4 vkSj 5

9- Hkkjr ds jkT;ksa dk fuEufyf•r esa ls dkSu&lk
,d ;qXe] lcls iwohZ jkT; vkSjis lcls  if'peh
jkT; dks bafxr djrk gS \ (2015)

(a) vle vkSj jktLFkku
(b) v#.kkpy çns'k vkSj jktLFkku
(c) vle vkSj xqtjkr
(d) v#.kkpy çns'k vkSj xqtjkr

10- ;fn vki dksfgek ls dksêð;e dh ;k=k lM+d
ekxZ ls djrs gSa] rks vkidks ewy LFkku vkSj
xarO; LFkku dks feykdj Hkkjr ds vUnj
de&ls&de fdrus jkT;ksa esa ls gksdj xqtjuk
gksxk\ (2017)

(a) 6 (b) 7
(c) 8 (d) 9

11- fuEufyf•r esa ls dkSu&lk 'kgj fnYyh ds
lcls lehi ds ns'kkUrj ij fLFkr gS \ (2018)

(a) csaxyq# (b) gSnjkckn
(c) ukxiqj (d) iq.ks
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12. Consider the following pairs : (2014)

National Highway          Cities connected

1. NH 4           :   Chennai and

Hyderabad     

2. NH 6 : Mumbai and

Kolkata

3. NH 15          :    Ahmedabad and

Jodhpur

Which of the above pairs is/are correctly

matched?

(a) 1 and 2 only

(b) 3 only

(c) 1, 2 and 3

(d) None

13. Which one of the following pairs is correctly

matched? (2013)

Geographical    Region

Feature

(a) Abyssinian Plateau : Arabia

(b) Atlas Mountains : North-Western

Africa

(c) Guiana Highlands : South-Western

Africa

(d) Okavango Basin : Patagonia

14.Consider the following pairs : (2020)

River Flows into 

1.Mekong  -  Andaman Sea 

2.Thames  - Irish Sea 

3. Volga - Caspian Sea 

4. Zambezi  -  Indian Ocean 

Which of the pairs given above is/are correctly

matched ?

(a) 1 and 2 only

(b) 3 only

(c) 3 and 4 only

(d) 1, 2 and 4 only

15. Which one of the following lakes of West

Africa has become dry and turned into a

desert? (2022)

(a) Lake Victoria

(b) Lake Faguibine

(c) Lake Oguta

(d) Lake Volta

12- fuEufyf•r ;qXeksa ij fopkj dhft,%(2014)
jk"Vªh; jktekxZ blls tqM+s 'kgj
1- NH 4 % psUubZ vkSj gSnjkckn
2- NH 6 % eqEcbZ vkSj dksydkrk
3- NH 15 % vgenkckn vkSj

tksèkiqj
mi;ZqÙkQ esa ls dkSu&lk@ls ;qXe lgh lqesfyr
gS@gSa\

(a) dsoy 1 vkSj 2
(b) dsoy 3
(c) 1] 2 vkSj 3
(d) dksbZ ugha

13- fuEufyf•r ;qXeksa esa ls dkSu&lk ,d lgh
lqesfyr gS\ (2013)

HkkSxksfyd y{k.k çns'k
(a) ,fcfluh iBkj % vjc
(b) ,Vyl ioZr % mÙkj&if'peh vÚhdk
(c) xq;kuk mPpHkwfe % nf{k.k&if'peh vÚhdk
(d) vksdkokaxks æks.kh % iSVkxksfu;k

14- fuEufyf•r ;qXeksa ij fopkj dhft, %
unh esa tkdj feyrh gS
1- esdksax & v.Meku lkxj
2- FksEl & vk;fj'k lkxj
3- oksYxk & dSfLi;u lkxj
4- tEcsth & fgUn egklkxj
mi;ZqÙkQ ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr
gS@gSa \

(a) dsoy 1 vkSj 2
(b) dsoy 3
(c) dsoy 3 vkSj 4
(d) dsoy 1] 2 vkSj 4

15- if'pe vÚhdk dh fuEufyf•r >hyksa esa dkSu&lh
,d] lw• dj e#LFky esa cny xbZ gS \

(a) ysd foDVksfj;k

(b) ysd iQkxqfcu

(c) ysd vksxqVk

(d) ysd oksYVk 'ikYVk
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16. The term “Levant” often heard in the news
roughly corresponds to which of the following
regions ?  (2022)

(a) Region along the eastern Mediterranean shores

(b) Region along North African shores stretching
from Egypt to Morocco

(c) Region along Persian Gulf and Horn of Africa

(d) The entire coastal areas of Mediterranean Sea

17. Consider the following pairs : (2022)

Reservoirs States

1. Ghataprabha - Telangana

2. Gandhi Sagar - Madhya Pradesh

3. Indira Sagar - Andhra Pradesh

4. Maithon - Chhattisgarh

How many pairs given above are not correctly
matched ?

(a) Only one pair (b) Only two pairs

(c) Only three pairs (d) All four pairs

18. Which one of the following statements best
reflects the issue with Senkaku Islands,
sometimes mentioned in the news? (2022)

(a) It is generally believed that they are artificial islands
made by a country around South China Sea.

(b) China and Japan engage in maritime disputes
over these islands in East China Sea.

(c) A permanent American military base has been
set  up  there  to  help Taiwan  to  increase  its
defence capabilities.

(d) Though International Court of Justice declared
them as no man’s land, some South-East Asian
countries claim them.

19. Consider the following pairs :(2022)

Region often mentioned Country

in the news

1. Anatolia - Turkey

2. Amhara - Ethiopia

3. Cabo Delgado - Spain

4. Catalonia - Italy

How many pairs given above are ‘correctly
matched ?

(a) Only one pair (b) Only two pairs

(c) Only three pairs (d) All four pairs

16- vDlj lekpkjksa esa lqukbZ nsus okyk 'kCn ¶fy¸ eksVs
rkSj ij fuEufyf•r esa ls fdl {ks=k ls laxr gS \
(a) iwohZ Hkweè;lkxjh; rV ds ikl dk {ks=k
(b) mÙkjh vÚhdh rV ds ikl dk felz ls eksjDdks rd

iQSyk {ks=k
(c) iQkl dh •kMh vkSj vÚhdk ds 'k̀ax (gkWuZ vkWiQ

vÚhdk) ds ikl dk {ks=k
(d) Hkweè; lkxj ds lEiw.kZ rVorhZ {ks=k

17- fuEufyf•r ;qXeksa ij fopkj dhft, %
tyk'k; jkT;

1- ?kkVçHkk & rsyaxkuk
2- xka/h lkxj & eè; çns'k
3- bafnjk lkxj & vka/z çns'k
4- eSFkksu & NÙkhlx<+
mi;ZqÙkQ esa ls fdrus ;qXe lgh lqesfyr ugha gSa \
(a) dsoy ,d ;qXe (b) dsoy nks ;qXe
(c) dsoy rhu ;qXe (d) lHkh pkjksa ;qXe

18- fuEufyf•r dFkuksa esa dkSu&lk ,d] dHkh&dHkh
lekpkjksa esa mfYyf•r lsadkdw }hi fookn dks lokZsÙke
:i esa çfrfcafcr djrk gS \
(a) vke rkSj ij ;g ekuk tkrk gS fd os nf{k.kh phu lkxj

ds vklikl fdlh ns'k }kjk fufeZr Ñf=ke }hi gSaA
(b) phu vkSj tkiku ds chp iwohZ phu lkxj esa bu }hiksa

ds fo"k; esa leqæh fookn gksrk jgrk gSA
(c) ogk¡ rkboku dks viuh j{kk {kerkvksa dks c<+kus esa

enn djus ds fy, ,d LFkk;h vesfjdh lSU; vîók
LFkkfir fd;k x;k gSA

(d) ;|fi varjkZ"Vªh; U;k;ky; us mUgsa vLokfed Hkwfe
?kksf"kr fd;k gS] rFkkfi dqN nf{k.k&iwohZ ,f'k;kbZ ns'k
mu ij nkok djrs gSaA

19- fuEufyf•r ;qXeksa ij fopkj dhft, %
vDlj lekpkjksa esa
mfYyf•r {ks=k ns'k

1- vukrksfy;k & rqdhZ
2- vEgkjk & bfFk;ksfi;k
3- dkcks Msyxknks & Lisu
4- dkrkyksfu;k & bVyh
mi;ZqÙkQ ;qXeksa esa fdrus lgh lqesfyr gSa \
(a) dsoy ,d ;qXe (b) dsoy nks ;qXe
(c) dsoy rhu ;qXe (d) lHkh pkjksa ;qXe
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20. Consider the following pairs: (2023)

Port Well known

as

1. Kamarajar Port : First major port in India

registered as a company

2. Mundra Port : Largest privately owned

port in India

3. Visakhapatnam : Largest container port in

Port India

How many of the above pairs are correctly

matched?

(a) Only one pair

(b) Only two pairs

(c) All three pairs

(d) None of the pairs

21. Which one of the following is the best

example of repeated falls in sea level, giving

rise to present-day extensive marshland?

(2023)

(a) Bhitarkanika Mangroves

(b) Marakkanam Salt Pans

(c) Naupada Swamp

22. Consider the following statements: (2023)

1. Amarkantak  Hills  at  the  confluence  of

Vindhya and Sahyadri Ranges.

2. Biligirirangan Hills constitute the easternmost

part of Satpura Range.

3. Seshachalam  Hills  constitute  the

southernmost part of Western Ghats.

How many of the statements given above are

correct?

(a) Only one

(b) Only two

(c) All three

20- fuEufyf•r ;qXeksa ij fopkj dhft, %(2023)

iÙku (iksVZ) ftl :i esa lqfo[;kr gS

1- dkejkt iksVZ Hkkjr esa ,d dEiuh ds :i esa

iathÑr lcls igyk çeq• iÙku %

2- eqaæk iksVZ Hkkjr esa futh LokfeRo  okyk

lcls cM+k iÙku

3- fo'kk•kiÙkue Hkkjr esa lcls cM+k vk/ku iÙku

iksVZ (daVsuj iksVZ)

mi;ZqÙkQ esa ls fdrus ;qXe lgh lqesfyr gSa\

(a) dsoy ,d ;qXe

(b) dsoy nks ;qXe

(c) lHkh rhu ;qXe

(d) dksbZ Hkh ;qXe ugha

21- fuEufyf•r esa ls dkSu&lk ,d] leqæ Lrj esa iqujkorhZ

fxjkoV dk lokZsÙke mnkgj.k gS] ftlls orZeku le;

dh lqfoLr`r dPNHkwfe mRiUu gqbZ gS\ (2023)

(a) Hkhrjdfudk xjku ( eSUxzkso )

(b) ejDdue yo.k csflu

(c) ukSikM+k vuwi

(d) dPN dk j.k

22- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

1- vejdaVd igkfM+;k¡ foUè; vkSj lákfæ Jsf.k;ksa ds

laxe ij gSaA

2- fcyhfxfjjaxu igkfM+;k¡ lriqM+k Js.kh ds lcls iwohZ

Hkkx gSaA

3- 'ks"kkpye igkfM+;k¡ if'peh ?kkV ds lcls nf{k.kh

Hkkx gSaA

mi;ZqÙkQ esa ls fdrus dFku lgh gSa \

(a) dsoy ,d

(b) dsoy nks

(c) lHkh rhu

(d) dksbZ Hkh ugha
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23. Consider the following pairs:(2023)

Regions often Reason for being

mentioned in news in news

1. North Kivu and Ituri: War between

Armenia and

Azerbaijan

2. Nagorno-Karabakh: Insurgency in

Mozambique

3. Kherson and Dispute between

Zaporizhzhia Israel and Lebanon

How many of the above pairs are correctly

matched?

(a) Only one

(b) Only two

(c) All three

(d) None

24. Consider the following pairs: (2023)

Area of conflict Country where it

mentioned in news is located

1. Donbas Syria

2. Kachin Ethiopia

3. Tigray North Yemen

How many of the above pairs are correctly

matched?

(a) Only one

(b) Only two

(c) All three

(d) None

25. In the recent years Chad, Guinea, Mali and

Sudan caught the international attention for

which one of the following reasons common

to all of them?  (2023)

(a) Discovery  of  rich  deposits  of  rare  earth

elements

(b) Establishment of Chinese military bases

(c) Southward expansion of Sahara Desert

(d) Successful coups

23- fuEufyf•r ;qXeksa ij fopkj dhft,%(2023)

çk;% lekpkjksa esa lekpkjksa esa gksus

mfYyf•r gksus okys {ks=k dk dkj.k

1- mÙkjh fdow vkSj bVqjh vkehZfu;k vkSj vtjcStku

ds chp ;q¼

2- ukxksukZs dkjck• ekstkEchd esa miIyo

3- •sjlkWu vkSj tiksfjft;k btjkby vkSj yscuku ds

chp fookn

mi;ZqÙkQ esa ls fdrus ;qXe lgh lqesfyr gSa\

(a) dsoy ,d

(b) dsoy nks

(c) lHkh rhu

(d) dksbZ Hkh ugha

24- fuEufyf•r ;qXeksa ij fopkj dhft, % (2023)

lekpkjksa esa mfYyf•r ftl ns'k esa

la?k"kZ dk {ks=k vofLFkr gS

1- Mksuckl % lhfj;k

2- dkfpu % bfFk;ksfi;k

3- fVxzs % mÙkjh ;eu

mi;ZqÙkQ esa ls fdrus ;qXe lgh lqesfyr gSa\

(a) dsoy ,d

(b) dsoy nks

(c) lHkh rhu

(d) dksbZ Hkh ugha

25- gky ds o"kks± esa] pkM] fxuh] ekyh vkSj lwMku us

fuEufyf•r esa ls fdl ,d dkj.k ls varjkZ"Vªh;

è;ku vkdf"kZr fd;k] tks bu lHkh ns'kksa ls lacaf/r

gS \ (2023)

(a) nqyZHk e`nk rÙoksa ls le`¼ fu{ksiksa dh •kst

(b) phuh lSU; csl dk LFkkfir gksuk

(c) lgkjk e#LFky dk nf{k.kkfHkeq•h çlkj

(d) liQy r[rk iyV
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26. Consider the following countries: (2023)

1. Bulgaria

2. Czech Republic

3. Hungary

4. Latvia

5. Lithuania

6. Romania

countries share a land border with How many

of the above-mentioned Ukraine?

(a) Only two

(b) Only three

(c) Only four

(d) Only five

27. Which one of the following countries has been

suffering from decades of civil strife and food

shortages and was in news. in the recent past

for its very severe famine? (2023)

(a) Angola

(b) Costa Rica

(c) Ecuador

(d) Somalia

26- fuEufyf•r ns'kksa ij fopkj dhft, % (2023)

1- cqYxkfj;k

2- psd fjifCyd

3- gaxjh

4- ykrfo;k

5- fyFkqvkfu;k

6- jksekfu;k

mi;ZqÙkQ esa ls fdrus ns'kksa dh lhek,¡ ;wØsu dh lhek
ds lkFk lk>h gSa\

(a) dsoy nks

(b) dsoy rhu

(c) dsoy pkj

(d) dsoy ik¡p

27- fuEufyf•r esa ls dkSu&lk ,d ns'k] n'kdksa ls
x`gdyg vkSj •k| ladV ls =kLr jgk gS rFkk gky
ds fiNys fnuksa esa vfr xaHkhj nqfHkZ{k ds fy, lekpkjksa
esa Fkk\ (2023)

(a) vaxksyk

(b) dksLrk jhdk

(c) bDokMksj

(d) lksekfy;k
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TRIBES

1. Consider the following pairs : (2013)

  Tribe                   State

1. Limboo (Limbu) : Sikkim

2. Karbi : Himachal Pradesh

3. Dongaria : Odisha

4. Bonda : Tamil Nadu

Which of the above pairs are correctly

matched?

(a) 1 and 3 only (b) 2 and 4 only

(c) 1, 3 and 4 only (d) 1, 2, 3 and 4

2. With reference to India, the terms 'Halbi, Ho

and Kui' peertain to(2021)

(a) dance forms of Northwest India

(b) Musical instruments

(c) pre-historic cave paintings

(d) tribal languages

3. In a particular region in India, the local people

train the roots of living tree into robust bridges

across the streams. As the time passes these

bridges become stronger. These unique

‘Living Root Bridges’ are found in(2015)

(a) Meghalaya (b)  Himachal Pradesh

(c) Jharkhand (d) Tamil Nadu

4. Consider the following statements : (2022)

1. Bidibidi is a large refugee settlement in north-

western  Kenya.

2. Some people who fled from South Sudan civil

war live in Bidibidi.

3. Some people who fled from civil war in Somalia

live in Dadaab refugee complex in Kenya,

Which of the statements given above is/are

correct?

(a) 1 and 2

(b) 2 only

(c) 2 and 3

(d) 3 only

  TRIBE

1- fuEufyf•r ;qXeksa ij fopkj dhft,%(2013)
tutkfr jkT;
1-fyEcw % flfDde
2-dkchZ % fgekpy çns'k
3-Mksaxkfj;k dksa/ % vksfM'kk
4-cksaMk % rfeyukMq
mi;ZqÙkQ ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr
gS@gSa\

(a) dsoy 1 vkSj 3
(b) dsoy 2 vkSj 4
(c) dsoy 1] 3 vkSj 4
(d) 1] 2] 3 vkSj 4

2- Hkkjr ds lanHkZ esa ^gYch] gks vkSj dqbZ* in
fdlls lacafèkr gSa\ (2021)

(a) if'peksÙkj Hkkjr dk u`R;:i
(b) ok|;a=k
(c) izkxSfrgkfld xqiQk fp=kdyk
(d) tutkrh; Hkk"kk

3- Hkkjr ds ,d fo'ks"k {ks=k esa] LFkkuh; yksx
thfor o`{kksa dh tM+ksa dk vuqo/Zu dj bUgsa
ty/kjk ds vkj&ikj lqn`<+ iqyksa esa :ikUrfjr
dj nsrs gSA tSls&tSls le; xqtjrk gS] ;s iqy
vkSj vf/d etcwr gksrs tkrs gSA ;s vuks•s
^thfor tM+ iqy* dgk¡ ik;s tkrs gS \ (2015)

(a) es?kky; (b) fgekpy çns'k
(c) >kj•.M (d) rfeyukMq

4- fuEufyf•r dFkuksa ij fopkj dhft,

1- mÙkjh if'peh dsU;k esa chM+hchM+h ,d o`gn~ 'kj.kkFkhZ
cLrh gSA

2- nf{k.k lwMku x`g ;q¼ ls iyk;u fd, gq, dqN yksx
chM+hchM+h esa jgrs gSa A

3- lksekfy;k ds x`g ;q¼ ls iyk;u fd, gq, dqN yksx
dsU;k ds nnkc 'kj.kkFkhZ ladqy esa jgrs gSa A

mi;ZqÙkQ dFkuksa esa dkSu&lk@ls lgh gS@gSa \

(a) 1 vkSj 2 (b) dsoy 2

(c) 2 vkSj 3 (d) dsoy 3



MINIRALS & INDUSTRIES
1. Despite having large reserves of coal, why does

India import millions of tonnes of coal?  (2012)

1. It  is  the policy of India  to save  its own coal

reserves  for  future, and import  it  from other

countries for the present use.

2. Most of  the power  plants  in  India  are  coal-

based and  they are not able  to get sufficient

supplies of coal from within the country.

3. Steel companies need large quantity of coking

coal which has to be imported.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

2. Which of the following is / are the characteristic/

characteristics of Indian coal? (2013)

1. High ash content

2. Low sulphur content

3.  Low ash fusion temperature

Select the correct answer using the codes

given below.

(a) 1 and 2 only

(b) 2 only

(c) 1 and 3 only

(d) 1, 2 and 3

3. Consider the following statements: (2013)

1. Natural gas occurs in the Gondwana beds.

2. Mica occurs in abundance in Kodarma.         

3. Dharwars are famous for petroleum.

Which of the statements given above is/are

correct?

(a) 1 and 2

(b) 2 only

(c) 2 and 3

(d) None

MINIRALS & INDUSTRIES

1- dks;ys dsa c`gÙk lqjf{kr Hk.Mkj gksrs gq, Hkh
Hkkjr D;ksa fefy;u Vu dks;ys dk vk;kr
djrk gS\  (2012)
1- Hkkjr dh ;g uhfr gS fd og vius dks;ys ds Hk.Mkj

dks Hkfo"; ds fy, lqjf{kr j•s vkSj orZeku mi;ksx

ds fy, bls vU; ns'kksa ls vk;kr djsA

2- Hkkjr ds vf/drj fo?kqr la;=kk dks;ys ij vk/kfjr

gS vkSj mUgsa ns'k ls i;kZIr ek=kk esa dks;ys dh vkarfjd

vkiwfrZ ugh gks ikrhA

3- bLikr dEifu;ksa dks cM+h ek=kk esa dksd dks;ys dh

vko';drk iM+rh gS] ftls vk;kr djuk iM+rk gSA

mi;qÙkQ esa ls dkSu&lk@ ls dFku lgh gS@ gS\
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d)  1] 2 vkSj 3

2- fuEufyf•r esa ls dkSu&lk@ls Hkkjrh; dk;sys
dk@ds vfHky{k.k gS@gSa\ (2013)
1- mPp HkLe va'k

2- fuEu lYiQj va'k

3- fuEu HkLe laxyu rkieku

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 vkSj 2

(b) dsoy 2

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

3- fuEufyf•r dFkuksa ij fopkj dhft,%
1- çkÑfrd xSl xksaMokuk laLrjksa esa ik;h tkrh gSA

2- vHkzd çpqj ek=k esa dksMjek esa ik;k tkrk gSA

3- /kjokM+ •fut rsy ds fy, çfl¼ gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
(a) 1 vkSj 2

(b) dsoy 2

(c) 2 vkSj 3

(d) dksbZ ugha



4. With reference to two non-conventional energy

sources called ‘coalbed methane’ and ‘shale

gas’, consider the following ‘statements:

(2014)

1. Coalbed  methane  is  the  pure  methane  gas

extracted from coal seams, while shale gas is a

mixture of propane and butane only that can be

extracted from fine-grained sedimentary rocks.

2. In  India  abundant  coalbed  methane  sources

exist, but so far no shale gas sources have been

found.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only     

(c) Both 1 and 2

(d) Neither 1 nor 2

5. In which of the following regions of India are

shale gas resources found? (2016)

1. Cambay Basin

2. Cauvery Basin 

3. Krishna-Godavari Basin

Select the correct answer using the code given

below. 

(a) 1 and 2 only 

(b) 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3

6. Recently, there has been a concern over the

short supply of a group of elements called ‘rare

earth metals’. Why?  (2012)

1. China, which  is  the  largest producer of  these

elements, has imposed some restrictions on their

export.

2. Other than China, Australia, Canada and Chile,

these elements are not found in any country.

3.  Rare  earth  metals  are  essential  for  the

manufacture of various kinds of electronic items

and  there  is  a  growing  demand  for  these

elements.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

4- ^dks;yk&laLrj eSFksu* vkSj ̂ 'ksy xSl* uked nks
xSj&ijEijkxr ÅtkZ lzksrksa ds lUnHkZ esa fuEufyf•r
dFkuksa ij fopkj dhft,%(2014)
1- dks;yk& laLrj eSFksu] dks;yk laf/;ksa ls fu"df"kZr

'kq¼ eSFksu xSl gS] tcfd 'ksy xSl dsoy çksisu vkSj
C;wVsu dk ,d feJ.k gS tks lw{edf.kd volknh
'kSyksa ls fu"df"kZr dh tk ldrh gSA

2- Hkkjr esa dks;yk&laLrj eSFksu lzksr cgqrk;r esa gSa]
fdUrq vc rd 'ksy xSl ds lzksr ugha ik, x, gSaA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2

5- Hkkjr ds fuEufyf•r {ks=kksa esa ls fdlesa@fduesa
'ksy xSl ds lalk/u ik, tkrs gS\ (2016)
1- dSEcs csflu
2- dkosjh csflu
3- Ñ".kk&xksnkojh csflu
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 vkSj 2
(b) dsoy 3
(c) dsoy 2 vkSj 3
(d) 1] 2 vkSj 3

6- gky esa rRoksa ds ,d oxZ] ftls ^nqyHkZ e`nk èkkrq*
dgrs gS dh de vkiwfrZ ij fpUrk trkbZ xbZA
D;ksa\   (2012)
1- phu] tks bu rRoksa dk lcls cM+k mRiknd gS }kjk

buds fu;kZr ij dqN çfrcU/ yxk fn;k x;k gSA
2- phu] vkWLVªsfy;k dukMk vkSj fpyh dks NksM+dj vU;

fdlh Hkh ns'k esa ;s rÙo ugha ik;s tkrs gSaA
3- nqyZHk e`nk /krq fofHkUu çdkj ds bysDVªWkfud lkekuksa

ds fuekZ.k esa vko';d gS bu rRoksa dh ek¡x c<rh tk
jgh gSA

mi;ZqÙkQ esa ls dkSu&lk@ls dFku lgh gS@gS\
(a) dsoy 1
(b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3
(d) 1] 2] 3]
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7. With reference to India, consider the

following statements:

1. Monazite is a source of rare earths.

2. Monazite contains thorium.

3. Monazite occurs naturally in the entire Indian
coastal sands in India.

4. In India, Government bodies only can process
or export monazite.

Which of the statements given above are

correct ?

(a) 1, 2 and 3 only

(b) 1, 2 and 4 only

(c) 3 and 4 only

(d) 1, 2, 3 and 4

8.Which one among the following industries is the

maximum consumer of water in India? (2013)

(a) Engineering

(b) Paper and pulp

(e) Textiles

(d) Thermal power

9.With reference to the usefulness of the by-prod-

ucts of sugar industry, which of the following

statements is / are correct? (2013)

1. Bagasse can be used as biomass fuel for the

generation of energy.

2. Molasses can be used as one of the feedstocks

for  the  production  of  synthetic  chemical

fertilizers.
3. Molasses  can be  used  for  the production  of

ethanol.
Select the correct answer using the codes
given below.

(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1, 2 and 3

10. In India the steel production industry requires
the import of(2015)

(a) saltpetre

(b) rock phosphate

(c) coking coal

(d) All of the above

7- Hkkjr ds lUnHkZ esa] fuEufyf•r dFkuksa ij fopkj
dhft, %

1- eksuktkbV nqyZHk e`nkvksa dk lzksr gS A

2- eksuktkbV esa Fkksfj;e gksrk gS A

3- Hkkjr dh leLr rVorhZ ckyqdkvksa esa eksuktkbV
çkÑfrd :i esa gksrk gS A

4- Hkkjr esa] dsoy ljdkjh fudk; gh eksuktkbV lalkfèkr
;k fu;kZr dj ldrs gSa A

mi;ZqÙkQ dFkuksa esa dkSu&ls lgh gSa \

(a) dsoy 1] 2 vkSj 3 (b) dsoy 1] 2 vkSj 4

(c) dsoy 3 vkSj 4 (d) 1] 2] 3 vkSj 4

8- Hkkjr esa fuEufyf•r m|ksxksa esa ls dkSu lk ,d
ikuh dk lcls cM+k miHkksÙkQk gS \

(a) vfHk;kaf=kdh
(b) dkxt ,oa yqxnh
(c) oL=ks|ksx
(d) rki 'kfÙkQ

9- 'kdZjk m|ksx ds miksRikn dh mi;ksfxrk ds
lUnHkZ esa] fuEufyf•r esa ls dkSu&lk@ls dFku
lgh gS@gSa\ (2013)
1- •ksbZ dks] ÅtkZ mRiknu ds fy, tSo ek=k bZa/u ds :i

esa ç;qÙkQ fd;k tk ldrk gS
2- 'khjs dks] Ñf=ke jklk;fud moZjdksa ds mRiknu ds

fy, ,d Hkj.k&LVkWd dh rjg ç;qÙkQ fd;k tk ldrk
gSA

3- 'khjs dks] ,FkukWy mRiknu ds fy, ç;qÙkQ fd;k tk
ldrk gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 (b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

10- Hkkjr esa bLikr mRiknu m|ksx dks fuEufyf•r
esa ls fdlds vk;kr dh vis{kk gksrh gS \
(2015)

(a) 'kksjk
(b) 'kSy iQkWLiQsV (jkWd iQkWLiQsV )
(c) dksddkjh (dksfdax ) dks;yk
(d) mi;ZqÙkQ lHkh
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11. What is/are the purpose/purposes of ‘District

Mineral Foundations’ in India? (2016)

1. Promoting  mineral  exploration  activities  in

mineral-rich districts 

2. Protecting the interests of the persons affected

by mining operations

3. Authorizing  State  Governments  to  issue

licences for mineral exploration

Select the correct answer using the code given

below.

(a) 1 and 2 only

(b) 2 only

(c) 1 and 3 only

(d) 1, 2 and 3

12. Which of the following is/are the possible

consequence/s of heavy sand mining in

riverbeds ? (2018)

1. Decreased salinity in the river

2. Pollution of groundwater

3. Lowering of the water-table

Select the correct answer using the code given

below :

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1 ,2 and 3

13. Consider the following statements: (2018)

1. In India, State Governments do not have the

power to auction non-coal mines.

2. Andhra Pradesh  and  Jharkhand  do not  have

gold mines.

3. Rajasthan has iron ore mines.

Which of the statements given above is/are

correct?

(a) 1 and 2

(b) 2 only

(c) 1 and 3

(d) 3 only

11- Hkkjr esa ^ftyk •fut çfr"Bkku dk@ds mís';
D;k gS@gSa\ (2016)
1- •fut&lEiUu ftyksa esa •fut&•kst laca/h fØ;kdykiksa

dks çksRlkfgr djuk

2- •fut&dk;Z ls çHkkfor yksxksa ds fgrksa dh j{kk djuk

3- jkT; ljdkjksa dks •fut&•kst ds fy, ykblsal fuxZr

djus ds fy, vf/Ñr djuk

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 vkSj 2

(b) dsoy 2

(c)  dsoy 1 vkSj 3

(d)  1] 2 vkSj 3

12- fuEufyf•r esa ls dkSu & lk@ls unh ry esa
cgqr vf/d ckyw •uu dk@ds laHkkfor ifj.kke

gks ldrk gS@ldrs gS \ (2018)
1- unh dh yo.krk esa deh

2- HkkSety dk çnq"k.k

3- HkkSe tyLrj dk fups pys tkukA

fups fn, x, dwV ç;ksx dj lgh mÙkj pqfu,

%
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2] vkSj 3

13- fuEufyf•r dFkuksa ij fopkj dhft,(2018)
1- Hkkjr esa jkT; ljdkjksa dks xSjdks;yk •nkuksa dh

uhykeh dk vf/dkj ugha gS A

2- vka/z çns'k ,oa >kj•aM esa lksus dh •nkusa ugha

3- jktLFkku esa yksg v;Ld dh •nkusa gSa A

mi;ZqÙkQ dFkuksa esa ls dkSu&lk ls lgh gS gSa \

(a) 1 vkSj 2

(b) dsoy 2

(c) 1 vkSj 3

(d) dsoy 3
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14- fuEufyf•r dFkuksa ij fopkj dhft, %
1- Hkkjr ljdkj }kjk dks;yk {ks=k dk jk"Vªh;d.k bafnjk

xk¡/h ds dk;Zdky esa fd;k x;k FkkA

2- orZeku esa] dks;yk •aMksa dk vkcaVu ykWVjh ds vkèkkj

ij fd;k tkrk gSA

3- Hkkjr gky ds le; rd ?kjsyw vkiwfrZ dh deh dks

iwjk djus ds fy, dks;ys dk vk;kr djrk Fkk] fdUrq

vc Hkkjr dks;yk mRiknu esa vkRefuHkZj gSA

mi;ZqÙkQ esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 3

(d) 1] 2 vkSj 3

15- ^esFkSu gkbMªsV*]ds fu{ksiksa ds ckjs esa] fuEufyf•r
esa ls dkSu&ls dFku lgh gSa\
1- HkweaMyh; rkiu ds dkj.k bu fu{ksiksa ls esFkSu xSl dk

fueZqÙkQ gksuk çsfjr gks ldrk gSA

2- ^esFkSu gkbMªsV* ds fo'kky fu{ksi mÙkjè#oh; VqaMk esa

rFkk leqæ v/Lry ds uhps ik, tkrs gSaA

3- ok;qeaMy ds vanj esFkSu ,d ;k nks n'kd ds – ckn

dkcZu MkbvkWDlkbM esa vkWDlhÑr gks tkrk

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A

(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

16- fuEufyf[kr [kfutksa ij fopkj dhft,% (2020)
1- csaVksukbV

2- ØksekbV

3- dk;ukbV

4- flyhesukbV

Hkkjr esa] mi;qZDr esa ls dkSu&lk@ls vkfèkdkfjd
:i ls ukfer izeq[k [kfut gS@gSa\

(a) dsoy 1 vkSj 2

(b) dsoy 4

(c) dsoy 1 vkSj 3

(d) dsoy 2] 3 vkSj 4

14. Consider the following statements:

1. Coal sector was nationalized by the Government

of India under Indira Gandhi.

2. Now, coal blocks are allocated on lottery basis.

3. Till recently, India imported coal to meet the

shortages of domestic supply, but now India is

self-sufficient in coal production.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d) 1, 2 and 3

15. Which of the following statements are correct

about the deposits of “methane hydrate”?

1.  Global warming  might  trigger  the  release  of

methane gas from these deposits.

2. Large deposits of ‘methane hydrate’ are found

in Arctic Tundra and under the seafloor.

3. Methane in atmosphere oxidizes to carbon dioxide

after a decade or two.

Select the correct answer using the code given

below.

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1, 2 and 3

16. Consider the following minerals:

1. Bentonite

2. Chromite

3. Kyanite

4. Sillimanite

In India, which of the above is/are officially

designated as major minerals?

(a) 1 and 2 only

(b) 4 only

(c) 1 and 3 only

(d) 2, 3 and 4 only
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17. Ilmenite and rutile, abundantly available in

certain coastal tracts of India, are rich

sources of which one of the following? (2023)

(a) Aluminium

(b) Copper

(c) Iron

(d) Titanium

18. About three-fourths of world's cobalt, a metal

required for the manufacture of batteries for

electric motor vehicles, is produced by

(2023)

(a) Argentina

(b) Botswana

(c) the Democratic Republic of the Congo

(d) Kazakhstan

19. Consider the following statements: (2023)

Bit Statement-I:

Switzerland is one of the leading exporters of gold

in terms of value.

Statement-II :

Switzerland has the second largest gold reserves

in the world.

Which one of the following is correct in

respect of the above statements?

(a) Both  Statement-I  and  Statement-II  are

correct  and  Statement-II  is  the  correct

explanation for Statement-I

(b) Both  Statement-I  and  Statement-II  are

correct and Statement-II  is not  the correct

explanation for Statement-I

(c) Statement-I is correct but

(d) Statement-I is incorrect but Statement-II is

incorrect

17- Hkkjr ds dfri; rVh; {ks=kksa esa] çpqj ek=kk esa

miyC/ bYesukbV vkSj :Vkby fuEufyf•r esa ls

fdlds le`¼ lzksr gSa \ (2023)

(a) ,syqfefu;e

(b) rkez

(c) yksg

(d) VkbVsfu;e

18- lalkj dk yxHkx rhu&pkSFkkbZ dksckYV] tks fo|qr~

eksVj okguksa dh cSVjh ds fuekZ.k ds fy, vko';d

/krq gS] fdl ns'k }kjk mRikfnr fd;k tkrk gS\

(2023)

(a) vtZsUVhuk

(b) cksRlokuk

(c) dkaxks yksdrkaf=kd x.kjkT; (MseksØSfVd fjifCyd

vkWiQ n dkaxks)

(d) dtk•fLrku

19- fuEufyf•r dFkuksa ij fopkj dhft, %(2023)

dFku & I %

fLoV~tjySaM] ewY; ds vk/kj ij] Lo.kZ ds vxz.kh fu;kZrdksa

esa ls ,d gSA

dFku& II %

fLoV~tjySaM ds ikl fo'o dk nwljk fo'kkyre Lo.kZ

fup; ( fjtoZ) gSA

mi;ZqÙkQ dFkuksa ds ckjs esa] fuEufyf•r esa ls dkSu&lk

,d lgh gS\

(a) dFku & I vkSj dFku & II nksuksa lgh gSa rFkk

dFku&II] dFku&I dh lgh O;k[;k gS

(b) dFku & I vkSj dFku & II nksuksa lgh gSa rFkk

dFku& II] dFku & I dh lgh O;k[;k ugha gS

(c) dFku & I lgh gS fdUrq dFku& II xyr gS

(d) dFku & I xyr gS fdUrq dFku& II lgh gS
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CLIMATE & CLIMATE CHANGE

1. (d) 2. (c) 3. (*) 4. (c) 5. (c) 6. (d) 7.  (b) 8. (b) 9. (c) 10. (c)

11. (a) 12. (b) 13. (a) 14. (c) 15. (d) 16. (b) 17. (c) 18. (b) 19. (d) 20. (a)

21. (d) 22. (b) 23. (b) 24. (a) 25. (c)

VEGETATION & BIODIVERSITY

1. (c) 2. (a) 3. (d) 4. (b) 5. (b) 6.  (a) 7. (b) 8. (d) 9. (b) 10. (d)

11. (a) 12. (c) 13. (a) 14. (a) 15. (a) 16. (d) 17. (*) 18. (d) 19. (a) 20. (a)

21. (b) 22. (b) 23. (a) 24. (c) 25. (b) 25. (d)

RIVER & WATER RESOURCES

1. (a) 2. (a) 3. (d) 4. (a) 5. (d) 6.  (d) 7. (*) 8. (b) 9. (b) 10. (d)

11. (b) 12. (a) 13. (b) 14. (d) 15. (a) 16. (d) 17. (d) 18. (c) 19. (b) 20. (b)

20. (b) 21. (c)

OCEANS

1. (b) 2. (b) 3. (d) 4. (b) 5. (c) 6.  (c) 7. (c)

GEOMORPHOLOGY

1. (b) 2. (d) 3. (c) 4. (c) 5. (b) 6.  (a) 7. (b) 8. (c) 9. (c)

SOIL

1. (b) 2. (d) 3. (c) 4. (b) 5. (a)

AGRICULTURE

1. (b) 2. (c) 3. (a) 4. (b) 5. (d) 6.  (d) 7. (c) 8. (c) 9. (a) 10. (c)

11. (c) 12. (c) 13. (b) 14. (d) 15. (a) 16. (b) 17. (*) 18. (a) 19. (a) 20. (c)

21. (b) 22. (b) 23. (b) 24. (a) 25. (d) 26. (a)

SOLAR SYSTEM

1. (b) 2. (c) 3. (d) 4. (b) 5. (c) 6. (a) 7. (d)

MAPPING

1. (b) 2. (a) 3. (a) 4. (c) 5. (b) 6.  (c) 7. (b) 8. (c) 9. (d) 10. (b)

11. (a) 12. (d) 13. (b) 14. (c) 15. (*) 16. (a) 17. (c) 18. (b) 19. (b) 20. (b) 35.(*)

21. (d) 22. (d) 23. (d) 24. (c) 25. (a) 25. (d)

TRIBES

1. (a) 2. (a) 3. (a) 4. (*)

MINIRALS & INDUSTRIES

1. (b) 2. (a) 3. (b) 4. (d) 5. (d) 6.  (c) 7. (b) 8. (d) 9. (c) 10. (c)

11. (b) 12. (b) 13. (d) 14. (a) 15. (d) 16. (d) 17. (d) 18. (c) 19. (c)
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